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2��! ��P�?���S�P��*�0�
$&����������*+�����3	����hÄ~Û)Ì�Ä�¿sÕ�À9ÎÂ�¿}���

N
"#�! 

H
:C¹
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â �� P�����|�
�$���%
6&���
1 → N → G′ → H → 1,���3��k�	�
�@��������m�
����
RL��5A�	��nL���*,��*,�! �4���*,�

G → G′
k)	���L���2���2�����*-	8�P�Q 

���s��
����! P��*+�
G

��

  A
AA

AA
AA

1 // N

  A
AA

AA
AA

>>}}}}}}}}
H // 1

G′

>>}}}}}}}
,���%�
�3���T���$2����
�= �
���*,���m�
�j	��u
�����*,�! �4���*,�8:.ã

äT�����!�% 
���T�$�%�P��*,����
��m�
�$ 
�����������S�$�h���|�
�$���%
��������T���1���?G��! 
*+�
0 → Z/m → G → Z/n → 0,���������

Z/m
���7�$�#�! 
	8"9�d���a���m�
�$ 
���7*�&����	����

m å :��������%���a25���������>�! 
	8"9�
G
���S�����=*+�����iËnÄ5Ì%¾�Í#ÎÙ Í5Á�À%Í�Â.:�ÊN�3��2�	��$ 
���i�u¹

? º I����$0�
����-�?k�	��1�$�M��&�� 
*,
����
Z/m

���1������	�2�����
6&���/���K�=09����
������8I8���%�
�1">	������1���$ N2�������
����� P�����O2���*,�-	��
Z/n

E¥*�&����	�����A.I>���)������2$����I��$�r�! 
�����/���
H2(Z/n, Z/m)

���N���r�N&	�*,�$ 
�-���
2������%���C�$k�	�
�@���������2�
��V���p���%�
�R�

�"9�S���p�~�|�
������
������$��I54m]��������

m, n
A3������2�2�
6&���

���
Z/n

���!0� 
�
Z/m æ :�R�M�!0�]^�$�

�@.�����1�$�%�
�j�� P�=0>��]^�-�$�T25�=��2�	����= 

H2(Z/n, Z/m)
�
��*+�=�����?���

��2�2�
5&���o2���*,�u">�= �&��*,���� 
�vA< 
�����=2�
������= d�%	'�! ����$�³2����B���F���
H2(G, Z) =

H2G
	8�

���
 ; �������F�����9 
����	����P�=�����9L��������������#���O¹

? º �=2��$ 
25�7���R�! 
	8"9���s*,�$�P��2!&( 2���
»E2�����:

ç ¤ «Q���7�� ��
 =�Q���H�.���6Ò.�6�����~�¥���S�r�=�C���R��è%é$�Q�¨�¥�¥�=�W¡$�H������é$���r�=�¥Ò.�r���H�s�Q =�F�R�= =� ® Ñª��P a�H�m�=�W�¨���Q�H�J��ªJ����Ñ5é$�=�W�Q�HÒ.�r���¥�M���
Ò=�J�~¢ê¥¤ é$�Q��¡P���¨�H ��J�H���^ ����PÑ��H�m�P�J�6�.�pª ��¨ªH���¨ª^���=�W�
�¥�Q�H  mëH¤ �9�=�^ªH����Ñ$ì~í��� ��Q�p�¨�p�^�¦�¦�J�=ªH���Q�¥���Q�
Z/n Ó � ��~�6�=�¨�����
ÒQ�¥� Z/m ¢



��������	��
���
��
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1. Complejos de cadenas����������������� �!�#"���%$��'&(� )�&(� *,+!�.-%�/&(� 01�12!�!�3)�&(� 4�56+!������*70�+�8��9�:$;"< �/��8=�>��+�&��?01+
@
? ACB ����5D$E8=+!56+!����� �10��F�!���G8H�:*I$1&��1+�JE� *>01+K8���*L&�+!*/�18=�(�:0���*IM���+%*/+%+!�N�1�PO
�!�H� ��Q

RN+9�
R
�1�6� �1��8�8��>�:&,JE�S�/&(�:&��=�TQVUW�

R
OC5X"��0��18��I4V&(�:0���� 01�>+!*Y�1���I*/�1�!+!*/�#"���

C = (Cn)n∈Z

01+
R
OC5X"��01��8=��*!QZRN�

x ∈ Cn B 01+!�!�=56��*?MN�1+
x
����+!�1+[4V&(� 01�

n
-\+�*/��&��=J���56��*[01+!4

x = n
QWUW�]56�V&,^E*,56�

f : C → C′
01+G4V&�� 01�

p01+!8
R
OC5X"��01��8=�D4V&(� 01��� 01�

C
� 8

R
O_5X"��01�18��64V&(�:0���� 01�

C′
+�*.�1���6*/�1�!+!*/�#"���

f = (fn : Cn → Cn+p)n∈Z

01+[`1��56��56�V&/^�*/56��*L01+a5X"��01�18���* B +!�������1�!+!*01+!4
f(x) =

01+!4
f +

01+!4
x
Qcb���*d56�V&/^�*/56��*F0�+e5X"��01��8=��*D4V&(� 01��� 01��*d*,+

�!��5D$f���1+!�a01+.8H�K5[� �1+�&(�?�VJ�gP�H��Q
UW�h�!��5D$�8�+,ij�601+K�9� 01+!��� *L*/�VJ1&�+

R
+!*.�1�k$E�:&

(C, d)
01���10�+

C
+!*>�1�

R
O_5X"��01�18��L4V&(� 01��� 01�.-

d
+!*l�1�D+!�101��56�V&/^�*/56�L01+

C m �nQo+VQ d : C → C pqB 01+4V&(� 01�DO(rs�(� 8ZM���+
d2 = 0

Q�t78Z56�V&/^�*/56�
d

+!*I8�8H� 5[�:0��F0��=)H+�&�+!�1�!�H�:8u�G�V$TO
+�&(� 01�V&v)�&/������+�&��?0�+�8f�!��5D$�8�+,ij�

C
QTwI� 01�s�1�d����5D$E8=+,ij�?01+L�9� 01+!��� *

C m �VJTOgP�H�:��01�x8H�y0��=)H+�&�+!�1�!�H�:8 pqB 01+�^����=56��*f8���*z�!�=�!8���*
Z(C) = { +�& d = ( { +�& dn)n∈Z B8H� *%)�&������/+�&(� *

B(C) = | 5 d = ( | 5 dn+1)n∈Z

-}8H�e`1��56��8���4T"< �
H(C) =

Z(C)/B(C) B -��hMN�1+
d2 = 0

��5D$�8����9�
B(C) ⊂ Z(C)

Ql~z��0���*%+!*,�/��*F*/���
5X"��01��8=��*�4V&�� 01�E�:0���*�QN�x�V&�5[� 8�56+!����+ B 8=��*Y�!��5D$�8�+,ij��*701+��9� 01+!��� *Y*/+�01+!�1� O
�(� ��� *9"<C�

· · · → Cn+1

dn+1
→ Cn

dn→ Cn−1 → · · · ,

�!��� �101�d�1���!� �1*/+�������)H�1*/�9"��� B *,+���56�=�/+!�e8�� *I0��=)H+�&�+!�1�!�H�:8�+!*L- B +!���9�:*/��01+
MN�1+>+!8;����5D$E8=+,ij�%*,+9�%�1����+�4��:���=g�� m Cn = 0, n < 0 pqB 01+!�1�V�(� 56��*

· · · → Cn+1 → Cn → Cn−1 → · · · → C0 → 0.

�c�V��+!56��*IM���+F�!��� 8�MN�1��+q&
R
O_5X"��01�18��

M
$��1+!01+F������*,��01+�&(�:&�*,+D�!��56������5FO

$�8�+,ij��01+��9� 01+!��� * B �!��� M
+!�X8H�e$f��*/�=�!�#"�����!+�&/��-��!+�&���*[+!�X8H� *F0�+�5�"� *

$f��*/���������1+!* B 8H�s01��)H+�&/+!�1�!�H� 8�+!*c��+��!+!*��:&/�H� 56+!����+I�!+�&��TQ
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RN��56��8��:&�56+!����+ B ���6����5D$E8=+,ij�.01+��!���9� 01+!��� *l+!*��1�F$E�:& m C, d p $f+�&/� B +��+!*,��+>�9� *,� B d
����+!�1+I4V&(� 01��rI-a*/+3+!*,��&��=Jf+
0 → C0 → · · · → Cn−1 → Cn → Cn+1 → · · ·

�!��� �101��+!8��!��5D$�8�+,ij��+�*6�����1+!4��'���=g��TQl�u�:&(��8H�:*D�1�N�!�����1+!*F�!�V&/&�+!*�$f���10���O
+!���/+!* B `E�'JE8��:&�+!56��*Z01+W���N�!����8���* B �!��)�&�������+�&(�:*Y-F����`���56��8=��41"< �NQ:�c+!���101+q�T� �PO
01��$f�V&

Cn = C−n
$��N01+!56��*>�!���1*/��01+�&(�:&3�!��56������5D$E8=+,ij�d01+D�9�:0�+��E�:*s�

�!��� 8�M����=+�&Y����5D$E8=+,ij�301+L�!�N�!� 01+!��� * B $f�V&v+!8�8=�3�!��5D$�8�+,ij��*l0�+W�9� 01+!��� *Y-F�!� O
�9� 01+!��� *x*/����+!*/+������H� 8�56+!����+I+!8�56��*/56�s�!���1�!+�$1���TQEt7*W+!��8H�:*W�:$�8��=�9� �!�����1+!*
01����01+>+!*,����*x�!���1�!+�$1����*c*/+301�=gN��01+!��Q

UW��56�V&/^�*/56�a01+D�9� 01+!��� *
f : C → C′

+!*?�1��56�V&/^�*/56�[01+D4V&(� 01�k�
$E�:&(�s+!8��!��� 8

fd = d′f m d -
d′

*/����8H� *y01��)H+�&�+!�1�!��� 8�+!*v&�+!*�$f+!�����SgV� * p QUW���3`1��56�V���V$;"< �L01+L�1�a56�V&,^E*,56�.01+L�9� 01+!��� *
f
�3�V�/&/�

g B +!*v�1�d56�V&,O
^�*/56�

h : C → C′
0�+s4V&�� 01��r B �(�:8zMN�1+ d′h + hd = f − g

Q�t�*L�!8��:&��DM���+
�1��56�V&/^�*/56�K0�+3�9� 01+!��� *�+!*W`���56�V�1"�V$E�=�!�F�%*9"< 56�=*/56�%g�"< �K8H��`1��56�V���V$;"< ��!+�&��%�u-�MN�1+

−h
+!*l�1�E�>`1��56�V���V$;"< �W01+

g
�

f � � 01+!5�"� *7*/�
k
+!*Y�����I`1��56� O

���V$;"< �?01+
g
�K�1����+�&���+�&�56�V&/^�*/56�

u B +��������1�!+!* f − u = f − g + g − u =

d′(h+k)+(h+k)d
Q'�z�V&Z+!*,���x&(� 2f"��� B 01+!�!��56��*�MN�1+

f
-

g
*/���s`1��56�V��"�V$����9� *

-a+!*/��&��SJE�=56��*
f ' g

Q
�x���z�T�;�9�H������u� r� K¡Z¢e£G¤�¥_¦y§�£e¤a¨1©Kª¬«T¨1©!¢u«�§

f : C → C′ ­ ¢u¨�®;ª�©.®�¢
£G¤�¥_¦y§�£e¤

H(f) : H(C) → H(C′) ¯ H(f) = H(g) ° § ­ f ' g ±
²s³�´x�z�9µf�E¶���� ��u�  IRN+9� �

e, c ∈ C
-·*/�T$f���14�� 56��*sM���+

dc = 0 B +��TO�����1�!+!*
d′(fc) = f(dc) = 0

$f�V&�8=�DMN�1+
f( { +�& d) ⊂ { +q& d′ � $f�V&W�V�/&��D8H�:0�� B*/�

dc = e B +!�������1�!+�* fe = f(dc) = d′(fe) B 01+F01���101+
f( | 5 d) ⊂ | 5 d′

Q
RN��4��1�=^��9�?MN�1+>`��9-d�1��56�V&/^�*/56�s���101�1�!��01�

H(f) : H(C) → H(C′)
Q

��`1�V&(� B */+!� h
�1�E�[`1��56�V���V$;"< �F01+

f
�

g
-G������*,��01+�&�+!56��*

c ∈ { +�& d
Q

t��������1�!+!*
(f − g)c = (d′h + hd)c = d′(hc) B 01+D01���10�+�8���*356�V&,^E*,56��*

���101������01��*v�!�����1�!��01+!��Q
�
Q

UW�e56�V&/^�*/56�601+%�!� 01+!��� *
f : C → C′

*/+%01���!+%+!MN�1�=g � 8�+!�1�!���D0v"+qJE�=8Z*/�
H(f)

&�+!*/�18=���K*,+�&L�1����*/��56�V&,^E*,56� � f +!*W+!MN�1�=g � 8�+!�1�!���K`1��56�V��"�V$����!�3*/��`E�!-
�V�/&��I56�V&/^�*/56�

f′ : C′ → C B ��� 8TMN�1+ f′f ' idC

-
ff′ ' idC′

Q�t7*��!8H�:&��LM��1+ B+!���(� 8��9� *,� B */+3���10��1�!+.�1����*/��56�V&/^�*/56�s+!��`1��56��8���4T"< �NQPUW������5D$E8=+,ij��01+
�9� 01+!��� *v*/+I01���!+�� ��"< �!8=���!�s�!��� �101�

H(C) = 0
-6*/+I01���!+��!�����/&(� �SJE8=+��!��� �101�

¸ �f¹:º:»�¹:¼c½ ¾�¿%»�¹:¼cÀCÁ(Âx¾,Ãy¼ÅÄ�Æ�¼_Ã_Á?¼ÅºD¼ÅÄ�ÄÇ¹'È!¾,ÃvÆjÁ�ÃnÃ_¼jÆ_ÀCÁIÉ�¾,ÃÅ¾L»�¹:¼WÄÊ¾I½ Á(ÂyÁ�ÀCÁ�ÉN�� ¾ÀC¼Åº'È!¾7¼jÄ�È(ÃÅ¾�Ë'Á�Ã_¼j»�¹:¼ÅÃnÌ	Ë'Á'Í
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idC ' 0 B �1����`1��56�V���V$;"< �?01+?8H�K��01+!���/��0�� 0�����+�&��6*/+?8=8H� 5[�?�!�����/&(� �!���#"����Q
ÎI�1+!0��K�!8H�:&/��01+3���1+�g��FM���+.�1���!��5D$�8�+,ij�K�!�����,&(� �=J�8�+I+!*c� ��"< ��8����!�TQ

2. Producto Tensorialt���+!*��(�G*/+!���!�#"���X�����/&/�N01�1�!�=&�+!56��*K8H�e�����!�#"����01+�$1&���0��1���/����+!�1*/�V&��H�:8c01+
�!��5D$�8�+,ij��*701+��9� 01+!��� * B ���1���!�H�:��01�I�!���[8H�>�����!�#"���D�1*/��� 8E01+c$1&��N01�1�����.��+!�PO
*/�V&��H�:8CQzt7�}� 01+!8H� ����+ B �!���1�!+!���,&(�:&�+!56��*3�N�1+!*,�/&����:��+!�1�!�#"����+!�}� �1��8�8=��*.�!���
�1���S�(�:&���� B $f�V&c8���M��1+

R
01+!�1�V�(�'&1"�%*,��+!5D$1&�+L�1�1�F01+3+!*���+>�/�=$f�TQ

wI� 01��*
M

-
N

4V&��T$f��*c�:Jf+!8=�H� �1��* B 01+�^��1��56��*v*/�aÏ�¥!¤ ¨�®zª!Ð/¤�Ð/©!¢�§ ¤�¥ ­ «�Ñ�!��56�
M ⊗ N = F(M × N)/A,01����01+

F(M × N)
01+!�1�V�(��+!834V&��T$f���:Jf+!8=�H� �1��8��=J1&�+h4�+!�1+�&(� 01��$f�V&d8���*

+!8�+!56+�������*�0�+�8�$�&/�N01�1�������9�:&,��+!*/�H�:���
M × N B - A

+�*a+�8L*/�TJE4V&/�1$���0�+
F(M × N)

4�+!�1+�&(� 01��$��V&W8���*x+!8�+�56+!������*v01+.8H�s)H�V&�5[�
(m, n) + (m′, n) − (m + m′, n), m, m′

∈ M, n ∈ N;

(m, n) + (m, n′) − (m, n + n′), m ∈ M, n, n′
∈ N.b;�L��5[�:4�+!�K0�+

(m, n)
JE� i��I8H��$1&��#-�+!�!�!�9"���D���:���T&(� 8T*/+x01+!�1�V�(�L�1*/��� 8�56+!����+

$f�V&
m⊗n B +!*,�/+v+!*u�!8H�'&(� 56+!����+l�1�K�!����ij�1������01+�4�+���+q&(� 01�V&�+!*z$E�:&��

M⊗N
Q

t78�$�&/�N01�1�����?��+!�1*/�V&/�H� 8E�/��+!�1+L8H�3*/�=4����=+!����+c$�&/�V$E�=+!0�� 06�1���Sg�+�&�*�� 8 � 0�� 0���!��� 8�M����=+�&L�:$�8��=�9� �!�#"���aJ���8����1+9� 8�Ò
f : M × N → L B +q�P��*,��+s�1���\"�1�1���9���:$�8��SO

�9� �!�9"���D8����1+9� 8
h : M⊗N → L

�(� 81MN�1+
f(m, n) = h(m⊗n)

Q��u�:&��>$1&��VJE�:&
+!*,�(�6$1&��V$���+!0�� 0 B �1���d01+�^���+

h
$f�V&38��Ó"�18=���=5[�F��01+!���/��0�� 0e-e8��1+!4��6&�+�gP�=*��

8H� *v�!���101���!�=����+�*�$��'&(�?MN�1+I+!*,�(�s01+�^��1���!�#"���[*/+!�sJ��1+!��� B 01+>+!*,��+I56��0��s�1�1�
+!�1�!�1+!���,&(�%8��K01+�^��1���!�9"����01+

A
Q

RN+9�
R

�1�}� �1��8�8��TQ���`1�V&(��*/�T$f���14�� 56��*.MN�1+
M

-
N

*/���
R
OC5X"��01��8=��*

01+�&�+!�(`1�D+>��2!MN�1��+q&�01� B &�+!*,$f+������=g � 56+!����+VQ1wL+�^��1��56��*
M ⊗R N = (M ⊗ N)/B,�!���

B
4�+!�1+�&(� 01��$��V&W8���*y+!8=+!56+!���/��*x01+.8H�s)H�V&�5[�

mr ⊗ n − m ⊗ rn, m ∈ M, n ∈ N.�c�1+�g � 56+!���/+ B 8H�x�=5[� 4�+!�301+l8���*z+!8=+!56+!���/��*;01+!8����=$f�
m⊗n

JE� ij�W8��y$1&��#-�+!�qO
�!�#"���·���:���T&(� 8�������*����=���T-�+!�}���}�!����ij�������h0�+[4�+!�1+�&�� 01�V&�+!*s-·*/+[0�+����V��� � B$f�V&L�!��*����15%J1&�+ B 01+%8��F56��*/5[�K5[� �1+�&(�NQEb��D+!*,�/&��1���/�1&��D0�+

R
O_5X"��01�18���*/� O

J1&�+
M⊗R N

+!*,�T"�s0�� 0��.$f�V&
r(m⊗n) = mr⊗n = m⊗ rn m */+�&�+!M��1��+�&�+

ÔnÕ Ì	¼Åº Ë'Á�¾
M

¿
N

ÆjÁ¬ÂyÁ
Z Ö ÂD�Á¬Ë'¹'Ä	Á¬×�Í
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MN�1+
M

*/+9��5X"��01�18��a0�+q&�+!�(`1�k$E�:&��dMN�1+6+!*��(��+!*,�,&��1�����T&(�d*,+9��� */���!�H�:���SgV� �
ab(m ⊗ n) = m(ab) ⊗ n = (ma)b ⊗ n = ma ⊗ bn = a(m ⊗ bn) =

a(b(m⊗n) p QPb��3$1&��V$���+!0�� 0[�1�1�=g�+�&�*��:8�*/��4��1+L*/��+���01�?g�"� 8���0��.*T"��8��K�!��� �10��
L
+!*x+!*c���d4V&��T$f���:Jf+!8���� �1�TQPt7��+!*,��+>�9� *,� B 8�� R

OnJE�=8����1+9� 8��=0E�:0D+!*,�T"�K+q�N$�&/+qO
*�� 0���$f�V&F8��k������01�����#"���

f(mr, n) = f(m, rn)
Q7b��k$1&��V$���+�0E�:0��1�1�=g�+�&�*��:8

$���+�0�+I$1&��VJE�:&�*/+>01+35[� �1+�&��s� �x"� 8���4��s� 8��9� *,�D01+.4V&��T$f��*c�:Jf+�8��H� �1��*!Q
UW���·$1&��V$���+�0E�:0\Jc"� */���9��01+!8.$1&���01���q������+!�1*/�V&/�H� 8I+!*�+!8.��*/��56�V&/^�*/56�

R ⊗R M ≈ M B 0�+q^E�1��01�k���/&��9gl"+!*K01+a8����:$�8����9�:�!�#"����J���8����1+9�:8
R × M →

M; (r, m) 7→ rm m M���+d���101����+
r ⊗ m 7→ rm pq� 8H�h�=��g�+�&�*/�e01+�+!*���+�+!*

m 7→ 1⊗m m +!*7�!8H�:&��IM���+x� 5KJf��*u*,���F`1��56��56�V&/^�*/56��* B �:0�+�5�"� *
r⊗m 7→

rm 7→ 1⊗rm = r⊗m
-

m 7→ 1⊗m 7→ m p Q'��"�V��+!*/+�MN�1+7+!*,�/+l��*,��56�V&/^�*/56�
+!*x0�+

R
O_5X"��01�18���*�*/��01+�^����=56��*

r(s ⊗ m) = rs ⊗ mØ��/&(�v$�&/�V$E�=+!0�� 0 B �VJNgN�H�Y$f+�&��c��5D$f�V&/��� ����+ B +!*�+!8��!��5D$f�V&,�(� 56��+!�����lJE� ij�
*/�15[� *W01�=&/+!���(� * � 01+

m ⊗ (n1 + n2) = m ⊗ n1 + m ⊗ n2

-
m ⊗ 0 = 0 B*/+>*/��4��1+.+�8;��*,��56�V&/^�*/56�

M ⊗R (N1 ⊕ N2) ≈ M ⊗R N1 ⊕ M ⊗R N2

Q
Ùv����*,��01+�&�+!56��*[`1��56��56�V&/^�*/56��*

f : M → M′, g : N → N′,
01+

R
O_5X"��01�18���*v01+�&�+!�(`1��*�+3�=2!MN�1��+�&/0���* B &/+!*,$f+!�q���=g � 56+���+VQ�t7�������1�!+�*c$f��0�+�56��*

01+�^����S&
f × g : M ×R N → M′ ⊗R N′; (m, n) 7→ f(m) ⊗ g(n)

M��1+D+!*
+�gP�=0�+�����+!56+�����+DJ���8��=��+!� 8 � 8=��+�4�� B 01+d8H��$1&��V$���+!0�� 0·�1�1�=g�+�&�*��:8x�VJ1��+���+�56��*
f ⊗ g : M ⊗R N → M′ ⊗R N′

8����1+9�:8 B �(� 8fM��1+ m ⊗ n 7→ f(m) ⊗ g(n)
Q

t7��$E�:&,�����!�18H�:& B $f�N01+!56��*I�!���1*/��01+�&��:&
f ⊗ 1 : M ⊗R N → M′ ⊗R N B01����01+ar�01+!�1�V�(�68H�6��01+!������0�� 0h01+

N
Q�b;�[� */���!�H� ���#"���

f 7→ f ⊗ 1
����+!�1+K8H�

*/��4��1��+!����+!*3$1&��V$���+�0E�:0�+�*WÚ�®E¢�Ð/¤�¥ ­ «�ÑÛ©9§!QZRN� g : M → M′, f : M′ → M′′ B+!���/������+!*

f ⊗ 1 ◦ g ⊗ 1 = (f ◦ g) ⊗ 1,

-��aM��1+
f ⊗ 1 ◦ g ⊗ 1(m ⊗ n) = f ⊗ 1(g(m) ⊗ n) = (f(g(m)) ⊗ n) =

f ◦ g ⊗ 1(m ⊗ n) B �:0�+�5�"� *

1 ⊗ 1 = 1,

MN�1+Z$���+�0�+7*/+q&;g�+�&/�=^��9� 0��Y$f�V&�+!8�8�+!���/�V&�0��S&�+!���(�:56+!����+ Q9RN+7����+!�1+!�>$�&/�V$E�=+!0�� 01+!*
� �x"� 8���4�� *x$E�:&(�

1 ⊗ g
Qf��"�V��+!*/+sM���+ B */� f ◦ g = 0 B +!���/������+!* f ◦ g ⊗ 1 = 0-��%M��1+

0 ⊗ n = 0 ⊗ 0n = 0 (n ∈ N)
Q
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Ü ����� 8=56+!����+ B �!���1*/��01+�&�+�56��*l�!��5D$�8�+�i���*701+W�!� 01+!��� *
C, C′

01+
R
OC5X"��01�TO

8���*�0�+q&�+!�(`1��*Z+Y��2!M��1��+�&�01��* B &�+!*�$f+!�����SgV� 56+�����+ � 01+�^��1��56��*�*/�s$1&��N01�1�����x��+!�PO
*/�V&��H�:8

C ⊗R C′
$f�V&

(C ⊗R C′)n =
⊕

p+q=n

Cp ⊗R C′

q

8H�Ý01��)H+q&�+!�1�!�H� 8G*/+Þ01+�^���+ß$��V&]8H�à)'"�V&�5%�18H�
D(c ⊗ c′) = dc ⊗ c′+

(−1)pc ⊗ d′c′, c ∈ Cp, c′ ∈ C′

q

Q7t7*%�!8H�:&��kM���+
D

���=+!�1+a+�8x4V&�� 01�h���V&,O
&�+!���/��-a�!��56�

D2(c ⊗ c′) = D(dc ⊗ c′ + (−1)pc ⊗ d′c′)

= d2c ⊗ c′ + (−1)(p−1)dc ⊗ d′c′

+ (−1)pdc ⊗ d′c′ + (−1)2pc ⊗ d′2c′ = 0,+!*,��+>+!*c�����!��5D$�8�+,ij�K0�+.�9� 01+!��� *!Q
t7�d&�+9�:8���0�� 0 B �1��*/�V�,&���*v*1"��8��K`��:&�+!56��*Y��*,��01+!8�$1&���0��1���/�?��+!�1*/�V&��H�:8�01+!8

���=$f�
C⊗R M B 01���101+ M

+�*x�1�
R
OC5X"��01��8=�s��2!MN�1��+q&�01�TQ�á�+9� 56��*��1�a$��'&c01+

$1&��V$���+!0�� 01+!*s01+[+!*,��+VQlRN+9�
f : C → C′

�1��56�V&/^�*/56�d0�+a�9� 01+!��� *�Q7â��!-
�1�E�K5[� �1+�&(�K���:���T&(� 8�01+?01+�^��1�=&

f ⊗ 1 (1 : M → M) B +!*����D+!* B �!�N�V&/0�+��E�#O0������!���V&�01+!��� 0�� � �(�:8�56�V&/^�*/56�[����+!�1+D+!8v56�=*/56�d4V&�� 01��MN�1+
f
- B �!��56�

D′(f⊗1) = d′f⊗1+(−1) ã�äÛå ff⊗dM1 = d′f⊗1
-

D(a⊗m) = da⊗m m 01+01����01+
(f⊗1)D = fd⊗1 p $f��0�+�56��*;�'^�&/5[�:&�MN�1+�+!8#Ú�®E¢�Ð/¤�¥

−⊗1
$1&�+!*/+q&/gV�

56�V&/^�*/56��*x0�+K�9�:0�+��E�:*!Qf��`1�V&(�F�!���1*/�=0�+q&�+!56��*L8H�F�=0�+�������0�� 0
d′h + hd =

f − g B ��+���*,�V&���29� �101�%+!��� 5KJf��*y8H� 01��*y�!����8H�s��01+!������0�� 0 B
(d′h + hd) ⊗ 1 = (f − g) ⊗ 1

d′h ⊗ 1 + hd ⊗ 1 = f ⊗ 1 − g ⊗ 1

D′(h ⊗ 1) + (h ⊗ 1)D = f ⊗ 1 − g ⊗ 1.RN��4��1�=^��9�?MN�1+I��+!�1*/�V&��=29�:&c�!����8H�s��01+!������0�� 0�01+
M

$�&/+!*/+�&/g �F`1��56�V���V$;"< � *�Q
3. Complejo de morfismos graduados�7&/�N01+!01+�&�+!56��*��!��56�.+!�68H�I*/+!�!�!�9"���[� ����+q&����V& B ���1���!��� �10��>�!���68H�:*l�1�N�������1+!*

�1*/��� 8�+!*!Q
RN+9� �

M
-

N R
O_5X"��01�18���* B $�+!�1*/+!56��*��=2!MN�1��+�&/0���*�QWwL+!�1�V��+!56��*a$f�V&

HomR(N, M)
� 8Y������ij�1���/��0�+

R
OC`1��56��56�V&/^�*/56��*

N → M
Qzb;��+�*,�/&��1�qO

���T&(��01+
N

�=��01�1�!+k�1����+�*,�/&��1�����T&(�����:���T&(� 8L01+k4V&��T$f�}�:Jf+!8=�H� �1��*/�VJ1&�+
HomR(M, N)

01+�^��1��0���$f�V&
u + v(m) = u(m) + v(m)

$E�:&��
u, v ∈

HomR(M, N), m ∈ M B M���+7*/�=4���+7*/�=+!�10��x8����1+9�:8 � r[(u+v)m] = r(u(m)+
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v(m)) = u(rm)+ v(rm)
QNRN��+!8�� �1��8�8��

R
�1�?+!*��!���15%�T�(�:���=g�� B �1�?`��!-D�1���

5[� �1+�&(�?�9�:�W"���1���!�K01+>0��:&W+�*,�/&��1�����T&(�K01+
R
O_5X"��01�18��K�

HomR(M, N)
Q

wI� 01���1��`1��56��56�V&/^�*/56�
f : M → M′ B �!���1*/��01+�&�+!56��*y8H�K�:$�8��=�9� �!�#"���

Hom(f, N) : HomR(M′, N) → HomR(M, N), u 7→ u ◦ f,

+!*����F+,ij+�&��!�������356+!���(� 8Pg�+�&YMN�1+x+!*,��+c+!*Y�1�D`1��56��56�V&/^�*/56�cæ!Q�b;�L$1&���56+�&(�
$1&��V$���+!0�� 0�)H�1�����V&��H� 8 B +!��+!*,��+.�9� */� B +!*c*/��5D$�8�+!56+!����+�8H�%� */���!�H�:�/�=gP��0�� 0[01+
8H�?�!��5D$f��*,���!�#"���[01+.)H�1�1�!�����1+!* B �!����+!8�01+��(� 8=8�+L01+.8H��ªq¤�¢�ÐC¥�«�çN«�¥ ­ «�¢Zª ­ « B +!*01+!�!�=&

Hom(f ◦ g, N) = Hom(g, N) ◦ Hom(f, N),

$f�V&�M���+
Hom(f ◦ g, N)u = u ◦ (f ◦ g) = (u ◦ f) ◦ g =

Hom(g, N)(Hom(f, N)u) � -�8���*,+!4��1��0���+!*
u ◦ 1 = u m MN�1+h�1��*d0��

Hom(1, N) = 1 p QTÙv��56�3+!�a+!8��9�:*/�s01+!8�$1&��N01�1�����?�/+!�1*/�V&��H� 8 B *,� f ◦g = 0 B�(� 5KJ���"+!�
Hom(f ◦ g, N) = 0

Q
t7�ß�!��+�&,����*e�!� */��* B `��!-è���é��*/��56�V&/^�*/56�

HomR(R, M) = M/M0 B01����01+d+!*D+!8c*/�TJE5X"��01�18��kê
M0 = {m ∈ M|rm = 0 ∀r ∈ R}

Qlt�*�����+!*
01+�J���01���dM��1+F�1��+!8�+!56+������

m ∈ M
0�+q^E�1+�����`1��56��56�V&/^�*/56�

ϕm

�(�:8
MN�1+

r 7→ rm m ϕ(m) ∈ HomR(R, M)
$f�V&�M���+

(r + s)m = rm + sm pq�� 01+!5�"� *
ϕm+n(r) = r(m + n) = rm + rn = ϕm(r) + ϕn(r) B $f�V&%8��

MN�1+
ϕ

01+�^��1+K���e`1��56��56�V&/^�*/56��01+K4V&��T$f��*>�:Jf+�8��H� �1��*!Q�RN�
ϕm = 0

+!�PO
�����1�!+!*

Rm = 0
Ql��`1�V&(� B */+9� u ∈ HomR(R, M)

-��:*/�15[� 56��* B +q�P��*,��+
r ∈ R

�(� 8LM���+
Rr = R B +��\�(� 8L�9�:*/� B ϕu(r) = u

QxÙy��� �101�
M0 = 0 B� �x"� 8���4�� 56+�����+7�x�!��56�W*/�1�!+�0��9"���!���s+!8�$�&/�N01�1�����W��+���*,�V&��H� 8 B *,+Y����+!�1+l+!8N��*,� O56�V&/^�*/56�

HomR(R, M) ≈R M B 01+�^����=+!�10�� (rf)(s) = f(sr)
M���+3�!�15D$E8=+

(rf)(ls) = f(lsr) = lf(sr) = l(rf)(s)
Qvt7*,���·+!*a�!��+�&,��� B $f�V&a+,ij+!5D$�8�� B�!��� �101�

R
���=+!�1+?�1���S�(�:&���� B $��1+!*,���[M���+

Rm = 0
��5D$�8��=�9�

0 = 1m = m
-

R1 = R
Q

~u� 5KJ��q"+!� ��+!�1+!56��* �1� �=*/��56�V&/^�*/56�
HomR(M, N1 ⊕ N2) ë

≈ HomR(M, N1) ⊕ HomR(M, N2)
Q7t7*,���e+!*%$��V&�MN�1+a�!��� 8�MN�1��+q&K`���56� O

56�V&/^�*/56�
M → N1 ⊕ N2

*/+?$E�:&,��+ B 0�+35[� �1+�&(��"���1���!� B +!�k��*/��56�V&/^�*/56��*
M → Ni B ����5D$f���1��+!�101�%������8H� *v$1&��#-�+!�!�!�����1+!*c���:���T&(� 8�+�*!Q

ìÅí Âx¾/È¬ÌÇºV¾Z»�¹:¼zÄÊ¾
u
¼�×�¹'ºV¾�×î¹'Âx¾!ÍïÅð Ì

m, n ∈ M0, r ∈ R
¼jº!ÀnÁ¬º:Æj¼�×

R(m + n) = Rm + Rn = 0 + 0
¿

R(rm) =

(Rr)m = 0
É�Á�Ã_»q¹ ¼

Rr ⊂ R
Í
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�u�:&����!��5D$�8�+,ij��*u01+y�9� 01+!��� *
C, C′ B 01+�^��1��56��*

HomR(C, C′)n

����56�L+!8
�!����ij�������x0�+l56�V&/^�*/56��*�01+Y4V&�� 01�

n
01+

C
�

C′ B +!*;01+!�!�=& B HomR(C, C′)n =
∏

n∈Z
HomR(Cp, C

′

p+n) � �!���a�V$f+�&(�:0��V&y)�&/������+�&��
Dn(: HomR(C, C′)n →

HomR(C, C′)n−1)
0�� 01��$��V&

d′f − (−1)nfd
Qvt�*���+k+!*[�1�\�!��5D$�8�+,ij��01+

�9� 01+!��� * B -��KMN�1+

Dn−1 ◦ Dnf = Dn−1(d
′f − (−1)nfd)

= d′2f − (−1)n−1d′fd − (−1)nd′fd ± fd2 = 0.

t7*,�(� 56��*[$E�:&/��������8��:&�56+!����+�������+�&�+!*/� 01��*�+!�]5X"��01�18���*[01+G`1��56��56�V&,O
^�*/56��*.01+!87���=$��

HomR(C, M) B �!��� M
�1�

R
O_5X"��01�18��[��2!M����=+�&�01�TQ;Ùy��56�

M
+!*��1"�e�!���1�!+����/&(�:0���+��X01��56+���*,�#"�����!+q&�� m M = C′

0, C′

i = 0, i 6= 0 pqB
HomR(C, M)n = HomR(C, M)−n = HomR(Cn, M) B ������*,��01+�&(� �101���
+!*,��+%�!��56�a�!��5D$�8�+,ij�[01+��!���9� 01+!��� *!Q�t7*.�=5D$f�V&/�(� ����+?*��'Jf+�&.*/�l*,+%$1&�+!*,+�&,O
gV�:��8H� *y`1��56�V���V$;"< � *Y-d8���*y56�V&/^�*/56��*v01+>�9� 01+!��� *!Q

RN+9�
f : C → C′

�1�ñ56�V&/^�*/56�Ó01+\�!� 01+!��� *!Q�b;�è0�+q^E�1�����#"���à01+
Hom(f, M) : HomR(C′, M) → HomR(C, M)

+�*[� �x"� 8���4��G��8H�G� ����+q&��SO
�V& B +!*�����+�* B u 7→ u ◦ f � �(� 8�56�V&,^E*,56�.����+���+L+�8�56�=*/56�34V&(�:0��KM���+

f
- B */� f+!*x56�V&/^�*/56�s01+3�9� 01+!��� *

Dn(Hom(f, M)u) = dM(uf) − (−1)n(uf)d = −(−1)n(uf)d

= −(−1)n(ud′)f = Hom(f, M)(dMu − (−1)nud′)

= Hom(f, M)D′

nu,

m 01+!4 u = n,
-

dM = 0
$��V&�MN�1+

M
+�*,�1"���!���1�!+!���,&(� 01�}+��ò01��56+!�1*/�#"���

�!+�&�� p $f�V&>+!*,�d$f��0�+�56��*I�:^1&�5[�:&LM���+%+!8fÚ�®E¢�Ð/¤�¥
HomR(−, M)

$1&�+!*,+�&/g �
56�V&/^�*/56��*x0�+K�9�:0�+��E�:*!Qf��`1�V&(�F�!���1*/�=0�+q&�+!56��*L8H�F�=0�+�������0�� 0

d′h + hd =

f−g
-6�'$E8=��MN�1+!56��*

HomR(−, M)
01+L� 5KJf��*�8H� 01��* B �3�1�[+!8�+!56+!�����

u
0�+

4V&(� 01�
n

Hom(d′h + hd, M)u = Hom(f − g, M)u

u(d′h + hd) = u(f − g)

ud′h + uhd = uf − ug
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$f�V&�M���+
u

+!*W`1��56��56�V&/^�*/56�

(D′

nu)[−(−1)nh] + Dn(u[−(−1)nh]) = Hom(f, M)u − Hom(g, M)u

Hom(−(−1)nh, M)D′

nu + DnHom(−(−1)nh, M)u

= Hom(f, M)u − Hom(g, M)u.

RN��4��1�=^��9�
HomR(−, M)

$1&�+!*/+q&/gV��`���56�V�/�V$;"< � *�ó!Q

4. Resoluciones libresRN+9�
R
���d� �1��8�8=�3�!���a�1���S�(�:&����>-

M
�1�

R
OC5X"��01��8=�TQ�Uc�E�>&�+!*/��8��1�!�9"���a01+

M+!*x�����K*/�1�!+!*/�9"����+q�1�:���(�K0�+
R
O_5X"��01�18���*

· · · → F2
∂2→ F1

∂1→ F0
ε
→ M → 0.

RN���9� 0��
Fi

+!*W8=�=J1&�+!ô B 8H�?&�+�*/��8��1�!�#"���d*/+301���!+>8��=J1&�+ Q
b�� *�&�+�*/��8��1�!�����1+!*%8��=J1&�+!*%+q�P��*,��+!�õ$E�:&��e�!��� 8�M��1��+�&�5X"��0��18�� � */+9�

F0

+!8
R
O_5X"��01�18��s8��=J1&�+I�!�����1��4�+���+q&(� 01�V&c$��V&W�9�:0E�s+!8=+!56+!���/��01+

M B �CQo+ Q
F0 = {

∑

m∈M

a(m)em |a(g) ∈ R, a(m) = 0 ö∀m ∈ M}

m +!8c*9"< 5KJf��8�� ö∀ */�=4����S^E�!�\÷�$E�:&(�h���N01� B *�� 8=g����1�X�I"�156+�&/�G^����S����ø pqB � MN��"< B
em

+!*D�1��*9"< 5KJf��8��e)H�V&�5[� 8 B �1���G8�+��,&(�h$f�V&D0�+��!�=&[� 8=4��TQlb��1+!4�� B 8��G� */�=4 O
��� �!�#"���

em 7→ m
���101�1�!+%����`1��56��56�V&/^�*/56�

ε : F0 → M
MN�1+F+�*3*/�VJ1&�+

$f�V&�0�+q^E�1�����#"����QZ��8c5X"��01�18�� { +�& ε B 01+�8H� *[¥!©9ÑH«1ª ­ ¤�¢Z©9§G01+
M B $f��01+!56��*

�:$�8����9�'&�8�+6+!8y56��*/56��$1&����!+!01��56��+�������-}� *9"< */�1�!+!*/�SgV� 56+�����+[$E�:&(���VJ1��+!�1+�&
�1�E�?&�+�*/��8��1�!�#"���d0�+

M
Q

t7�a�N"+q&�56���1��*Y01+L�!��5D$�8�+,ij��*l0�+L�!� 01+!��� * B �1���3&�+!*,��8��1�!�#"���D$��1+!01+�g�+�&�*/+
�!��56�?�!��5D$�8�+�i��?� ��"< �!8=���!�?�!���

M
+���8H�I$f��*/���!�9"���FO(r B �sJ���+!�

F = (Fi, ∂i)i>0*/+K�!���1*/��01+�&(�D����56�6�!��5D$�8�+,ij�[� ��"< ��8����!�D-
ε : F → M

�!��56�656�V&/^�*/56��01+
�9� 01+!��� * � 8��y+¬�1� ���/�=���10301+Y8��y*,����+!*/�#"��� B */��4��1�=^��9��M���+ ε

+!*������y+!MN�1�=g � 8�+������H�
0v"+�J���8 m H0(F) ≈ M p Q

ù ��Á(ÂyÁcÄÊ¾�×ZË#ÌoÃ_¼jÆ�ÆÅÌ	Á(º ¼j×�Ë:¼YÄÇÁq×u½:Á¬ÂyÁ(ÂyÁ�Ãnú:×îÂyÁ¬×�×n¼�ÌÇº9û!ÌÇ¼ÅÃîÀC¼Åº>üV¾/ýþÁ
HomR(−, M) ÿÄÊ¾��¹'ÄoÀîÌÇÂx¾uÌ	Ë'¼jº!ÀîÌ	Ë:¾(Ëx×n¼;û�¼z¹'ºWÉ�Á�Æ�Á�Ë#Ì	×ÛÀnÌÇº!ÀC¾��SÄ	¾7É'ÃCÌÇÂx¾7×n¼uÆ�¾/Âlü:ÌÊ¾ZË:¼;ÄÇ¹:È�¾,Ã��_Í � ¾/Â�ü ÌÅ�¼Åº½V¾j¿.»q¹ ¼YÀn¼jº:¼_ÃlÄ	¾yÉ'Ã_¼jÆ,¾/¹:ÆjÌ,�Á(º.Ë:¼vÆ�¾/Âlü:ÌÊ¾,Ã7¼jÄ�×þÌÇÈqº:Á�Ë'¼

h
¼ÅºKÆ,¾�Ë:¾xÈ(ÃÅ¾�Ë:Á ÿ ¼j×7Ë:¼jÆjÌ Ã ÿ ÄÊ¾½ Á(ÂyÁ�ÀCÁ�ÉN�� ¾u¼�×

h′ = (−(−1)nhn)n∈Z ÿ ¼ÅºWÀ9�¼_ÃCÂvÌoº Á¬×�Ë'¼
h
Í

��� ¼�ÆjÁ�Ã_Ë'¼jÂyÁ¬×�»�¹:¼Z¹:º
R Ö ÂD�ÁqË#¹:ÄÇÁY×n¼ZË#Ì	Æj¼uÄÇÌoü'Ã_¼u×þÌN¼j×�Ì	×nÁ(ÂyÁ(Ã���Á�¾Y¹'ºV¾l×î¹'Âx¾lË#ÌoÃ_¼jÆÅÀC¾Ë:¼zÆ�Á�É Ì	¾(×EË:¼

R
Í
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5. El anillo de grupo� ���N01�X4V&��T$f�
G

*/+·8�+�$E�1+!01+�$f���1+�&e+!�ß�!�V&/&/+!*,$f���101+!�1�!�H���1�ß� �1��8=8��
�!�����1�1�=�(�'&���� B 8=8H� 5[� 01��+!8?«�¢ ­ ÑnÑÛ¤X¨1©
	�¥9®�Ï�¤G-}� 8y�!��� 8v01+!�1�V�(� 56��*

ZG B�!���1*,�/&��1��01�%01+.8H�s*/�=4����=+!����+I5[� �1+�&��NQ

ZG = {
∑

g∈G

a(g)g |a(g) ∈ Z, a(g) = 0 ö∀g ∈ G}.

t�*Y0�+��!�=& B ZG
+!*�+!8E4V&��T$f�?8��=J1&�+c�:Jf+�8��H� �1�>4�+!�1+�&(� 01�3$f�V&Y8���*Y+�8�+!56+!������*l01+

G
Qf��`1�V&(� B 8��[5%�18=���=$�8��=�9� �!�#"���a01+

G
*/+�+¬�P����+���01+K01+�5[�:��+q&(�F���:���T&(� 8��>�

�1�E�.5��18=���S$E8=���9� �!�9"���%+��
ZG

MN�1+L`�� �!+L01+�"+!8��1�d� �1��8�8��>�!�T-��K�1���S�(�:&����3+!*v+!8
+!8�+!56+������K�1+!�T�/&��

1 ∈ G
Q

�z�V&7+,ij+!5D$�8�� B +!8P4V&/�1$����/&��=gN�H� 8
G = 1

�!8H�:&(�:56+!����+�����+!�1+
Z
�!��56�L�:���=8�8��

01+Y4V&��T$f�x-38H�y5%��8S���=$�8����9�:�!�#"���W&�+�*/�18=�(�y8H�x5%�18=���=$�8��=�9� �!�#"���W��*,�E�:8�01+Y+�����+�&/��*!Q
t78�4V&��T$f�

G
$��1+!01+D*/+�&K���1�!8=���=0��d01+D8H�d5[�:��+q&(�a�VJ�gP�H�d0�+����/&���01+D*,�

� �1��8�8���01+s4V&��T$f� B 01+s+!*,���D5[� �1+�&(� B G
+!*I���h*/�TJ�4V&��T$f�601+!8Z4V&��T$f�

(ZG)∗01+.�1�1��0�� 01+!*y01+
ZG

Q
t78�� �1��8�8=�a01+D4V&/�1$��d����+���+�8H�[*/��4��1��+!����+%Ï�¥!¤!Ï ­ ©q¨T«T¨�®E¢ ­ çP©�¥#§:«�ÑSQ�wI� 01�

�1�[� �1��8�8��
R B �!��� 8�M��1��+�&l`���56��56�V&,^E*,56�L0�+W4V&��T$f��*

f : G → R∗ B ����+!�1+��1���
"�1���=�9�F+q�N��+!�1*/�#"���G�D���e`1��56��56�V&/^�*/56�K0�+%� �1��8=8���*

f̃ : ZG → R B 01+�^��1��0��$f�V&

f̃(g + h) = f(g) + f(h)
-

f̃(ag) = af(g) (a ∈ Z)

m +!�6$E�:&/���=�!�18H�:& B f̃(g) = f(g) B $f�V&�8��sMN�1+L+!*,���3+!*v�1���3+q�P�/+!�1*/�#"��� � � 01+!5�"�:* B01+W8H�>56��*/5[�W��01+!������0�� 0F-�01+�MN�1+
f
+!*Y`���56��56�V&,^E*,56� B f̃(gh) = f̃(g)f̃(h)8��aMN�1+F*/+�+q�P�/��+!�101+F� 8Z$1&���0��1���/��01+!8l� �1��8�8��601+F4V&/�1$��d�1*�� �101�d&/+�$f+����=0E�#O

56+!���/+>8��K01+�^��1���!�9"��� p Q� 5[� �1+�&(��01+e+�i�+�5D$E8=� B �VJ�*/+�&/g�+!56��*aMN�1+e+!8�"���1������`1��56��56�V&/^�*/56�
G → 1

�1��*30��[�1��`���56��56�V&,^E*,56�D�9� �c"���1���!�
ε : ZG → Z B 8=8H� 5[� 01�601+

«�®�£e©!¢�Ð,«1ª ­�
¤�¢ B M���+>*/+.�9�:&(� �q��+�&���2!�K$f�V&

ε(
∑

g∈G

a(g)g) =
∑

g∈G

a(g).

�_�NÁ�ÃfÄÇÌÇº:¼�¾�ÄoÌ	Ë ¾�Ë ÿ ÆjÁ(º ×þÌ	Ë:¼_ÃÅ¾/º:Ë:Á7¾/Ä�È(ÃC¹#É�ÁY¾,ü�¼ÅÄÇÌÊ¾/º:ÁlÆjÁ(ÂyÁ Z Ö ÂD�Á¬Ë#¹:Ä	Á#Í
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6. Módulos sobre el anillo de grupo�z�V&6*/�=5D$E8=���!��0�� 0 B 8=8H� 5[� 56��*
G
OC5X"��01��8=��*F�G8=��*D5X"��01��8=��*%*,�VJ�&/+�+!8�� �1��8�O

8���01+!8L4V&��T$f�
G
Qy�c+��!�V&�01+!56��*6MN�1+k�1�

R
OC5X"��0��18��e$E�1+!01+�$f+!�1*��'&�*/+k�!� O

56�[����4V&/�1$����:J�+!8��H� �1�
A B i��1�������!�����1��`1��56��56�V&/^�*/56��01+

R
� 8�� �1��8�O

8���01+k+!�10���56�V&,^E*,56��*��[01+
A � 01+h� �!�1+�&�01���!����8H�G$1&��V$���+!0�� 0��1���Sg�+�&,O

*�� 8 B �(� 8�`1��56��56�V&/^�*/56�h�!�V&/&�+�*,$f���101+e���1�\`1��56��56�V&/^�*/56�h01+k4V&��T$f��*
G → End(A)∗ = Aut(A) B +!8�4V&��T$f�F01+?�:�1�/��56�V&/^�*/56��*�01+

A
Q�t�*c0�+��!�=& B�1�

G
O_5X"��01�18��I+!*�*/��5D$�8�+!56+�����+��1�D4V&/�1$��3�:J�+!8��H� �1��ij�1�����.�!���D�1���I� �!�!�#"���

01+
G
Q

�z�V&[+,ij+!5D$�8�� B �!��� 8�M��1��+�&D4V&/�1$����:Jf+!8���� �1�
A

+!*6�1�
G
O_5X"��01�18��hJ�� ij�

8H���:�!�!�#"�����/&��SgP�H� 8 B +!�}+�*,��+6�9� *,� B ra = ε(r)a, a ∈ A, r ∈ ZG
�����

ε
8H�

� �156+!����� �!�#"�����9Q1t7��$��'&/�����!�18H�'& B Z
+!*c*/��+!5D$1&�+I�1�

G
OC5X"��0��18��TQ

7. La homoloǵıa y cohomoloǵıa del grupoÙy��� �101�
M, N

*/���ò�:5%Jf��*
G
O_5X"��01�18���*D��2!M��1��+�&�01��* @

? AnB �!���1*/�=0�+q&(� 56��*6�
M

�!��56�
G
OC5X"��0��18��F0�+q&�+!�(`1�[JE� ij�

mg = g−1m
Qft78z$1&���0��1���/�D��+!�1*/�V&��H�:8

�VJ1��+!�1��01�K0�+.+!*,�(�K)H�V&�5[�s*/+.0�+����V���s$��V&
M ⊗G N

Q
Ùv����*,��01+�&�+!56��*c�����K&�+!*/��8��1�!�9"����8��=J1&�+

F
0�+

Z
*/�VJ1&�+

ZG B �nQo+VQ��1�E�%&�+!*�O
��8��1�!�#"���}0�+

Z
gP��*����G�!��56�

G
O_5X"��01�18��h�!����� �!���#"�����/&��SgP�H� 8 B -�*,+9�

M
���

G
O_5X"��01�18��D��2�MN�1��+�&�01� B 0�+q^E�1��56��*W8H����¤�£G¤�ÑÛ¤�	 
� «�¨1©

G
ª�¤�¢èª�¤V©n¦Lª ­ ©!¢�Ð/©!§©!¢

M
$f�V&

H∗(G, M) = H∗(F ⊗G M)-a8H��ª�¤���¤�£G¤�ÑÛ¤�	 
� «G¨1©
G

ª�¤�¢\ª�¤V©C¦Lª ­ ©!¢�Ð/©9§d©!¢
M

$f�V&
H∗(G, M) = H∗(HomG(F, M)),

01+�� �!�1+�&�01�è�\8H�:*G*/+!���!�����1+!*�� ����+�&����V&/+!* B +�*,����*��!���1�!+�$1����*�+�*,�1"� �ÞJ���+!�
01+�^����=0���* ��� -d*/�����=��g �:&��H� ����+!*vJE� ij��`1��56�V���V$;"< � * �_� Q

8. La resolución estándar y la notación barrat�*�$f��*/�=J�8�+a�!���1*,�/&��1�=&D�����k&�+!*/��8��1�!�9"����0�+
Z

*,�VJ�&/+
ZG

�k$E�:&/���=&F01+�8���*
+!8�+!56+�������*v01+

G
Q

��� ¼Åº:Á(ÀC¾�Ë:Á;É�Á(Ã
End(A) = HomZ(A, A) ÿ ÀîÌ	¼Åº ¼�¼j×þÀþÃC¹:ÆÅÀî¹'Ã_¾;Ë'¼�¾�º'ÌÇÄÇÄÇÁ;ÌÇº:Ë'¹:ÆÅÌ	Ë ¾�É�Á�ÃÄÊ¾7Æ�Á(Â�É�Á¬×îÌ	ÆÅÌ,�Á(ºcË'¼��Ê¹'º ÆÅÌ	Á(º ¼j×�Í

�
ra =

∑

g∈G

n(g)g · a =
∑

g∈G

n(g)ga =
∑

g∈G

n(g)a = ε(r)a¸ �
F ⊗G M

¿
HomG(F, M)

×nÁ(ºLÆ�Á(Â�É:Ä	¼þýþÁ¬×�Ë'¼uÆ�¾(Ë'¼ÅºV¾�×¸H¸ � Áq×!�Ê¹'º!ÀnÁ(ÃC¼�×
− ⊗G M

¿
HomG(−, M)

É'Ã_¼j×n¼_ÃCû(¾/ºW½:Á(ÂyÁ(ÀnÁ(É��� ¾�×
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RN+9�
Fn

+�8f4V&��T$f�s8��=J1&�+L�'Jf+!8��H�:���34�+!�1+�&(� 01�s$f�V&y8H� *
(n + 1)

OÅ� 0�� *v01+L8H�
)H�V&�5[�

(gi)
n

i=0 B G
� ����"����*,�VJ�&/+

Fn

56+�0���� ����+
g · (gi)

n

i=0 = (ggi)
n

i=0

QEt7*,�(�
� �!�!�9"���3+!*�8��=J1&�+ � 0�+

ggi = gi

*/+�*/��4��1+
g = 1 � */��4��1�=^��9��MN�1+�8H� *��V&/J��=�(�:*�J�� ij�+!*,�(��� �!�!�9"����*/���k�!�V$��H� *W01+

G
- B $f�V&W+!*/� B �9� 0���"�V&/J��=�(�K4�+!�1+�&(�%�1�E�%�!�V$��H�

01+
ZG � �:0�+�5�"� * B 01+�J���01�D�KMN�1+>�(� 8�+!*�"�V&/J��=�(�:*c*/����01��*îi��1���(� * B �!���1�!8=���=56��*

MN�1+
Fn

+!*W*/�15[�?01�=&�+����(�K0�+>�!�V$��H� *x01+
ZG B +!*x0�+��!�=& B Fn

+!*x8��=J1&�+VQ
b��%01��)H+�&/+!�1�!�H� 8

∂ : Fn → Fn−1

*/+301+�^��1+I$f�V&

∂(gi)
n

i=0 =

n∑

i=0

(−1)i(g0, . . . , ĝi, . . . , gn) =
∑n

i=0
(−1)i(ĝi),

01����01+I+!8�4��V&/&��%���101���9�3M��1+.+!8�+!8=+!56+!���/�%M��1+.8��s$f�V&,�(�s`E�s*/�=0��K��56�=�/��01�3-
ε : F0 = ZG → Z

+!*W8H�K� �156+!���(� �!�9"����QNt�*���+3+!*c�1���V$f+�&(�:0��V&x)�&�������+�&(� B -��MN�1+

∂2(gi)
n

i=0 =

n∑

i=0

(−1)i∂(ĝi)

=

n∑

i=0

(−1)i

[
∑

j<i

(−1)j(ĝj, ĝi) +
∑

j<i

(−1)j−1(ĝi, ĝj)

]

=
∑

j,i

[(−1)i(−1)j(ĝi, ĝj) + (−1)i(−1)j−1(ĝi, ĝj)] = 0

�u�:&(�vg�+�&ZM��1+l+!*���+��!��5D$�8�+,ij�y+!*Z�:��"< �!8��=�!� B 01+�� ����+q&�01���c8��v$1&��=56+�&(�v*/+!�!���#"��� BJE� *,�(�6g�+�&?M��1+F+!*.�!�����/&�� �=J�8�+ B ���1�!8=��*,�d�!��56�a�!��5D$�8�+,ij�a01+
Z
O_5X"��01�18���*q�þÒqQ

�u�:&(�s+!8=8��K0�+q^E�1��56��*
h : Fn → Fn+1

�(� 8fM��1+
h(gi)

n

i=0 = (1, g0, . . . , gn) =

(1, gi)
n

i=0

-
h(1) = 1

*/�
n = −1

-a�9� 8��!�18H�:56��*
(∂h + h∂)(gi)

n

i=0 = ∂h(gi)
n

i=0 + h∂(gi)
n

i=0

= ∂(1, gi)
n

i=0 + h

n∑

i=0

(−1)i(ĝi)

= (gi)
n

i=0 +

n∑

i=0

(−1)i+1(1, ĝi) +

n∑

i=0

(−1)i(ĝi)

= (1, gi)
n

i=0,+!�[�1�6�9� */� B - (∂h+hε)(g) = ∂(1, g)+ (1) = (g)− (1)+ (1)
+!�[+!8��V�/&/�TQ

RN��4��1�=^��9�?MN�1+
h

+!*c�1���K`���56�V�/�V$;"< �301+.�!�����/&(� ���!�#"����Q
¸SÔ � ¾lÌ	Ë'¼jº!ÀîÌ	Ë:¾�Ë í Â ∂n = " ¼_Ã ∂n+1

º ÁlË:¼_É�¼Åº Ë'¼zË'¼uÄÊ¾7¼�×ÛÀîÃn¹ Æ_Àî¹'Ã_¾�Ë'¼
G Ö ÂD�ÁqË#¹:ÄÇÁ'Í
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�z�V&L8=�F�(� ����� B F∗ = F∗(G)
+!*L�1���%&�+!*,��8��1�!�#"��� B ����5]"���156+!����+I8�8H� 5[�:0E�

¥!©9§ ¤�ÑÊ®zª ­�
¤�¢\©!§!Ð 
«�¢u¨T«�¥#Q��`1�V&(� B �1�V��+�56��*xM��1+ B �!��56�

(g0, . . . , gn) = g0(1, g−1
0 g1, . . . , g

−1
0 gn)

= g0(1, g−1
0 g1, g

−1
0 g1g

−1
1 g2, . . . , g

−1
0 g1g

−1
1 · · ·g−1

n−1gn)

&�+!�1��5KJ�&�� �10��
g′

i = g−1
i−1gi, i = 1, 2, . . . , n B �VJ1��+!�1+!56��*l�����

ZG
OnJ��:*/+L01+

Fn

01+38H�s)H�V&�5[�

(1, g1, g1g2, . . . , g1 · · ·gn) = [g1| · · · |gn]

�!���1�N�!�=0E�s�!��56�K8H�s�1�V�(� ���#"���dJE�:&/&����þæ � $E�:&(�s+!*,�(�KJE� */+ B ��+!�1+!56��*

(ĝ0) = g1[g2| · · · |gn]

(ĝi) = [g1| · · · |gi−1gi| · · · |gn], i = 1, 2, . . . , n − 1

(ĝn) = [g1| · · · |gn−1]

�z��0�+�56��*��(� 5KJ��q"+!�\¢Z¤�¥9£h«�Ñ ­$# «�¥·+!*,�(�h&�+!*/��8��1�!�9"����QYÙv����*,��01+�&�+!56��*�+!8
5X"��01��8=� m 4V&(� 01��� 01� p&%F∗ = F∗/D∗

0����101+
D∗

+�*W4�+!�1+�&(�:0��%$f�V&c8���*
(gi)

n

i=0�(� 8�+�*xM��1+
gi = gi+1

$E�:&(�K� 8�4��1���
i
Q�RN�

(gj) ∈ Dn

∂(gj) =

n∑

j6=i,i+1

(−1)j(ĝj) ∈ Dn−1

m 8���*?+�8�+!56+!������*3M���+[�!�V&,&�+!*,$f���101+!�}�
i
+

i + 1
*,+a�!� �1�!+!8H� � pqB 01+[0����101+

`��9-õ������01��)H+�&/+!�1�!�H� 8��=��01�1�!��0��G*,�VJ�&/+
%F∗

M��1+h8=�·`�� ��+������!��5D$�8�+,ij��01+
�9� 01+!��� * � � 01+!5�"� *?+!*K�!8��:&���MN�1+

hD∗ ⊂ D∗ B $f�V&K8���M��1+a*,+a�=��01�1�!+6�1���
`1��56�V���V$;"< �W01+c�������/&(�:�!�!�#"���DM��1+W5%��+�*,�/&(�LMN�1+

%F∗

+!*Y� ��"< ��8����!�I- B $f�V&l��� ����� B�1�E�?&�+�*/��8��1�!�#"����Q
tu�P$1&�+!*/+�56��*c8���*y�!��5D$�8�+�i���*yM���+>*/+.�VJ��/��+!�1+!� B +!���N"+�&�56���1��*v01+38H�?&�+�*�O

��8��1�!�#"���hJ��'&/&(� B � 8Y�!� 8��!�18H�:&.8H�[`1��56��8���41"< �D01+!8Y4V&/�1$��TQ;b���*?+!8=+!56+!���/��*.01+
F∗(G) ⊗G M = C∗(G, M)

*/���k*/�15[� *c^��1�=�(�:*c01+?+!8=+!56+!���/��*c01+?8H�%)H�V&�5[�
m ⊗ [g1| · · · |gn]

-G+!8��V$f+�&(� 01�V&3)�&�������+q&(�
∂ : Cn(G, M) → Cn−1(G, M)

¸�ì�' ×þÀnÁ�À_¾/Âlü:ÌÅ�¼ÅºL×îÌoÃnû�¼zÉV¾,ÃÅ¾�É'Ã_Á�üV¾/Ã�»q¹ ¼ ÿ ÆjÁ(ÂyÁ G Ö ÂD�Á¬Ë'¹'Ä	Á ÿ Fn

Ë'¼_É�¼jº:Ë'¼Z×'�Á(Ä	ÁvË:¼
nÉ�¾,Ã:�¾/Ây¼_ÀîÃCÁq×jÍ
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+!*,�T"�K0�� 01�%$��V&
∂(m ⊗ [g1| · · · |gn]) = mg1 ⊗ [g2| · · · |gn]+

n−1∑

i=1

(−1)im ⊗ [g1| · · · |gi−1gi| · · · |gn] + (−1)nm ⊗ [g1| · · · |gn−1].

wL+e5[� �1+�&���*,��56��8H�:& B �1�]+!8�+�56+!������01+
HomR(F∗(G), M) = C∗(G, M)$���+�0�+.$f+!�1*��:&�*,+?�!��56�F�1����)H�1�1�!�#"���k�'&/J��=�/&(�:&/�H�s0�+

n
g �:&����:J�8�+!*

f : Gn →

M m $��1+!*,���LM��1+
Gn

+�*Z+!8T�!����ij�������L01+v4�+!�1+�&(� 01�V&�+�* p Q�t78T�V$f+�&(�:0��V&u�!��)�&����PO��+�&(�
δ : Cn−1(G, M) → Cn(G, M)

*/+>g�+.�!��56�
(δf)(gi)

n

i=1 = g1f(gi)
n

i=2

+

n−1∑

i=1

(−1)if(g1, . . . , gi−1gi, · · · , gn) + (−1)nf(gi)
n−1

i=1 .

t7*,�(� *d+q�P$1&�+!*,�����1+!*��'$��'&�+!�!+�&T"� �ò01+G5[� �1+�&����E�'���T&(� 8L+!�]+!8>�9�:$;"< �/��8=�*/��4��1��+!����+VQ



��������	��
���
��

Extensiones con núcleo abeliano

����������������� �! �"�$#��%�$&'�)($*,+ -/.)���0������1��324��5 !7698 �
1 → A → G → H → 1,

1 ! ��1��;:<���=���/&9�>�?�%� ! 1���� ! &'�@�A2B���A��& 69! 1��A2B2 ! �DC 6 �FE ! �<GH��� 6 �I �3��� 69! �/�B2 ! �C 6 �FE ! �D54��� 6 �%�=�KJB�A2L�4�%� ! �NMO�/�P�A��� 6 �QJ��L�A�����R���"� ! &'�%�A� �! �R�%1��Q&9�QS%�UT�� !,8V! ���
��2W�?�K� ! 1��V2 ! � 8 �! 1���2 ! �9X$Y[Z\�]��2D�?�%� ! 1��VC 6 �FE ! ��T[�����"�/���A����� �! �^�$#��%�$&'�
� !76 &'�����_&'� 8 J��A����R2L24� 8 �%1��P�����a`cbd-�`�e�f$gBh*,ei1��

A
E !76

H
Ykj

? lm & 6 �;�$#n&9�A���/� �! �
1 → A → G′ → H → 1,

���P��oU���QS%�%2L����&9�;���\p��?Mq���rp !,8V!,8V!76�s � 8V!
G → G′

od���tp��%���t� ! � 8 �F&'� 6��2�1��4�%C 6 � 8 �
G

��

  A
AA

AA
AA

1 // A

  A
AA

AA
AA

>>}}}}}}}
H // 1,

G′

>>}}}}}}}

���/&9�P���0���A�����9� 6 �4� 8 ����&9�>���"�L� !,8V!76�s � 8V! YFuZ\2Bv�+A*nw xy`Az{.}|�`R`cbd-�`�e�f$gBh*,e~� ! ���/�L�/&9�P����p��%2L2L� 6 & ! 1 ! ��2 ! ��C 6 �FE ! �
G
T

�9�%2QS ! ��oU���QS%�%2L�������L�UT����a54�����A� �! �)1��A2[���FJ�C 6 �FE !
N

M�1���2k� ! ���Q���d&9�
G/A =

H
Y�Z\�/&9�@E 69! J�2L� 8 �UTF� !,8V! S�� 6 � 8V! �AT��%����oU���@� ! ���)��2[�?�%� ! C,����� 6 �%2L�AT��L�n�S ! 2L��� 6 ��24��� ! p !,8V! 2 ! C��I �P1��3C 6 �FE ! ���a1�� 8 ������� ! �����WJ��%���%��Y
� ��� 8 � 8V! �_oU���

A
���>���qC 6 �FE ! �KJB�A2L�4�%� ! GH�A��� 6 �Q& ! �A�r� ! &'�%���?�! �)�%1����

&9�QS%�,X$Y��������?� 6 �%�A&9� 6 �I �/&9�L���;1��P24���$#n&�������� �! �
0 → A

i
→ G

π
→ H → 1

���U�����D���%�9�K����������� ��� �����c�����_�[�K�k���\�¡ /¢A���	�����K�¤£A�����$��¢A�%�[�K�����[���������K�¥�\�K�K�N¦c§
¨ �'�©�����K�¤�	�������H� ¨Hª ��§?¢A�K�¤�������[�«�����«�9�K�H�c¬­��n� ¨ �'���N�$�®�K���������«�k�H��¢$�K�	�����k�K��� ¨ �c� ¨ ��¯�°H�N�K�[� ��c� �K�	� ¨ �H�� ��9����±

? ² §�± ? ² ¬



22 Extensiones con núcleo abeliano

���"od���}���/&'� !76 �LC,�L���³�����^�%�A��� �! �´1��
H

� ! J 6 �
A

! T_���?�dT0od���
A

&9�L�����
���/& 6 ���$&9� 6 �01��

H
� 8 �! 1���2 ! Y Z\�/& ! �A�¤1��AJ��L1 ! �0od���

A
T�SU�L�/& ! � !,8V! ���FJ�C 6 �FE !1��

G
J��%� ! 24�µ�L����2Q���/� �! �

i
T�E ! �����@24�µ�%�����?�! �a1��

G
E !76 � ! �,�®��C��%��� �! ��EB� 69! T���L����1 ! �KJB��2L�L�%� ! T�24�V�%�A��� �! �r1��

A
���}���I 8 �Q� 8V! ���>& 6 �QSU�4�%2HY�¶U�LC,��� s �?�·oU���

p��?M������V�%�A��� �! �q�L��1������A�L1��¸1��
G/A = H

� ! J 6 �
A
YBZ\�d& ! �������ATB24�·�%���A� �! �1��

h
���

a
J��%� !

i
���_� ! �,�®��C��%��� �! �RE !76 ��� 6 �AE 6 ��������&'�%��&9�

h̃
1��

h
���

G ¹
i(ha) = h̃i(a)h̃−1,

� ! �
π(h̃) = h

Ykº[� 6 �O�U�����/& 6�! �PE 69! E��! ���Q& ! ��TB��� 8 ��K�<���!,8V! 1 ! ����� 6 �QJ�� 6 &9�%2
�L1����d&��L1��%1=� !,8V! �����·+�`�»�x4.³|�`R(A*,eBz"¼�-/.�(�gBh*,e ¹

h̃i(a) = i(ha)h̃.

¶n�KJ��L����1 ! 2 ! �%��&9� 6 � !76 TD���r� ! �����Q1�� 6 �^��2>E 69! J�2L� 8 �}1��r�A24�%��� s �?� 6 2L�%�
�$#n&�������� ! �����_oU��� !76 �LC,�L���%�R�����t�%�����?�! �"1��%1��UY

1. Extensiones escindidas½��?� 8V! �©od���tp���M)�$#n&9�A���/� ! �����<E�� 6 �V�����%2L����od���L� 6 E�� 6 1��;C 6 �FE ! �
A

M
H
Y

¶U�?�
A

���
H
� 8 �! 1���2 ! M

0 → A
i

→ G
π
→ H → 1

�����R�$#n&�������� �! �³oU���·1�� !76 �LC,���¾�R&9�%2¥����& 6 ���A&9� 6 �UYk¿<����� 8V! �PoU���·�A�/&'�"�$#d�
&9������� �! �i�/���������Q��1����/��&9�L�����=�����r�A�����L���?�! ��T��HYÀ�7YNp���M~���Áp !,8V!,8V!76�s � 8V!
s : H → G

&'�K2�od���
πs = idH

Y�Â��! &9�A���3od���>&'�%2����/���L��� �! �"1��$JB�Ã�/� 6 �L��M����A&9�Ä�
S7�dY

¿>�%1��q�����)�������L�/� �! ��T�p���M]�����aJ��QM������A� �! �
A × H ≈ G

1�� s ���Q1���E !76
(a, h) 7→ i(a)s(h) Å Y0¿<�)���/&9� 8 �%��� 6 �UTWp���MÆ�����Ç������L���}���/& 6 ���A&�� 6 �]1��
C 6 �FE ! � ! J 6 �

A×H
od���0p��%����1���&'�%2FJ��QM��������?�! �¸���¸�L� !,8V!76�s � 8V! Y7È��%2L�A��2Q�$�

8V! �W&'�%2����/& 6 ���A&9� 6 �UY
i(a)s(h)i(b)s(k) = i(a)i(hb)s(h)s(k)

E !76 24� 6 ��C,24�;1��Ã� ! � 8 �F&'�%���?�! �RM�TF� !,8V!
i
M

s
� ! ��p !,8V!,8V!76�s � 8V! ��T

= i(a + hb)s(hk).

É � ¯%�¡� ¨ ���K�K� π
�������	������°«�	�K�9�

i(a)s(h) = i(a′)s(h′)
�'��°H���K�®���c�

h = h′ Ê A = Ë ��� π Ì¦$§����<� ª �� §
i(a) = i(a′)

¯������
i
�®�W���?¦$� ¨ °«�¡£'�<¯,�'�_����Í���� ¨ � ��c��¬ � �P��� ¯K����¦A� ¨ °«��£A�	�%�9�;�®�

¨ �'�K�«� ¨ �K�®� ¨ ���P���<¢A�K�>°«�������®���®������°H�����
G

¯,����°H���%� ¨ �Ã�3���%� ¨ �	�'���©���/°H�������
gi(A)

¦¢A�K�
s
§7�����®�K�K�W�¡�?¦A� ¨ °���£'��§K�%�¥��� ¨ �'�cÎy����°«�D�K�Ï����¯K�H�����®��°H����°H�®�����N�®�y°H�9��¬%Ð ��'°«�����N¢$�%�\�%�

ª � ¨ �®���c���K�«�¥�K�¤¢$�%�
s
���/� ª �'���c���9�«ÍK�y����¬
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º !76 ��� ! T�24�;�����A& 6 ���$&9� 6 �t1��PC 6 �FE ! � ! J 6 �
A × H

���/&���;1��%1��;E !76
(a, h) · (b, k) = (a + hb, hk).Z���&'�]2Q�AMÑ1��qC 6 �FE !7Ò T�1�� s ���L1��}E�� 6 �]�A���K2LoU���L� 6 �%�A��� �! �Ó1��

H
� ! J 6 �

A
T

���R� ! � ! ���R� !,8V! v�+�*%|�¼[(�-�*~f%`�z=g�|�g�+�`A(?-�*³M]���=1���� ! &'�a���/���K2 8 ���d&��·E !76
A o H Ô 24�¸�A�����L���?�! �r�?�%�0�! ���L�?�µ���

h 7→ (0, h)
Y�º ! 1�� 8V! � 6 ���/� 8 � 6 ���/& ! ���

24�����LC,���L����&9�
Õ_Ö�×[ØF×kÙ?Ú4Û�Ú�Ü×¤ÝÑ:�Þ_ß¤.}`'bd-�`�e�fAg�h*,e´(A*,e~e=h¼k(?xà`A*r.FwA`?xÄg®.�eÏ*

0 → A
i

→ G
π
→ H → 1f%`R`?f%(�g�e¤|�`¸fAg�áDâqfDh*�xy*=fAg�áP`�fR`cã?¼�g�äU.�xy`Ae�-�`".ax4.}`cb�-�`�e�fAgBh*,e

0 → A
i′

→ A o H
π′

→ H → 1|�*,e¤|�`
i′

â
π′

f%*,e~x4.�f�g«eÏ(?x�¼�fAg�h*,eåâ·v�+�*,â�`A($(�gBh*,eÓ($.�eRh*,eBg/(c.�f¸æ�`�+A`$|F.F|F.�f
|�`?x�v�+�*%|�¼k(?-�*}(c.�+ -�`?fAg�.�eÏ*nç

Z\��1������ 6 TFp���M=���! 2 ! �����;�$#U&9������� �! �=�������L��1��L1��@E�� 6 �;�?�%1��µ�K����� �! ��Y¿<����� 6 �QJ�� 8V! ���%p !76 �;24�%�DE ! ���QJ�2L�A�_�A�����L��� ! ���A��Y
Õ_Ö�×[ØF×kÙ?Ú4Û�Ú Ü×¤ÝéèFÞ@ê>.�+A.ë(�¼k.�x4ã?¼�g�h`�+

H ì zíh*n|�¼�xà*
A
çtß¤.�fÑ(�xà.�f%`�fÁ|�`

A ì (A*,e7îA¼�»n.�(AgBh*,eÆ|�`R`?f%(AgHfAg�*,eÏ`?fO|�`µx4.}`cbd-�`Ae�fAgBh*,e
0 → A → A o H→H → 1`?f�-�h.�eq`�er($*,+?+�`?f�v�*,e¤|�`�eÏ(�g�.@¼�eÏ*;.Ã¼�eÏ*µ($*,e�xà*�f<`?xy`Azr`�e�-�*�f<|�`

H1(G, A)
ç

ï�ð�ñ_×[Ù?òBÖ�ó�Û�Ú Ü×¤Ý[Þ[¶U�?�
s : H → A o H

�����@�/������� �! ��TF�HYÀ�7YU�����@54������� �! �&'�%2HT\od���
πs = id

T¥����& ! �������
s(h) = (fh, h)

1 ! ��1��
f
���V�����r54������� �! �

H → A Ô �%1�� 8 ��K�
s(h)s(k) = (fh + hfk, hk),E�� 6 �"od���O24���/������� �! �
s
���?�ap !,8V!,8V!76�s � 8V! T

f
1��AJ��V�9�K&9�L�/5à�%��� 6

f(hk) =

fh + hfk
T���oU���QS%�%2L����&9� 8 ����&9�7T

0 = hfk − f(hk) + fh = (δf)(h, k).

ô
(a, h) · (b, k) = (a + hb, hk) = (0, 1)

�¡�W¯%��� ¨ � hb = −a
¢A�%�[��¢A����£'���	�¤�

b = −a¦
k = h−1 õ �9���®� ��9�

(−a, h−1)(a, h) = (a + h−1(−a), h−1h) = (0, 1)
¬�ö��®£A�	�«�����$���	��9�«� ¨ ���/°«�¡£��	�K�'��¬

[(a, h)(b, k)](c, l) = (a + hb, hk)(c, l) = ((a + hb) + (hk)c, (hk)l)

= (a + h(b + kc), h(kl)) = (a, h)[(b, k)(c, l)]¬
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m J��L����T
f
1��$JB�Ã�/� 6 ���

1
�H� ! �A�L��2 ! 1��

C1(H, A)
Y

½N� 8V! �N�31������ 6 oU���<1 ! �W�������Q��� ! �����
s1

M
s2

� ! �
A
�H� ! �,����C��%1��%��÷¥����p���M���t�A2L� 8 ����& !

a ∈ A
E�� 6 �_��2n�����%2

s1(h) = i(a)s2i(a)−1
E�� 6 ��& ! 1 !

h ∈ H
Y

Z��
A o H

T
(a, 1)(b, h)(a, 1)−1 = (a + b − ha, h);�%�?�I TF2L� 6 ��24�%���?�! �"1��Ã� ! ���®��C��%���?�! ��TU���ÃS��Ã� !,8V!

f1h = a + f2h − ha
TF�«Y¡�7Y

(f2 − f1)h = ha − a = hf(1) − f(1) = (δf)h1 ! ��1��
f : C0(H, A) = HomH(ZH, A) = A → A; 1 7→ a

Y
�

2. Número de extensiones�����0S���øDp��KJ��L����1 ! �?�%2Q���d&'�K1 ! GH� ! �t24�0���A����� �! �µ�%�d&�� 6 � !76 XcTKod���A1�� 8V! �¤2L�L�/& ! �E�� 6 �0S�� 6 �A���K�d&'�%�Ï�c#n&9������� ! ���A�Ïp���M@E�� 6 �������<�K����� �! � s ���UY7ù������/& 6 �K&9��C,�L�����
��� 8 �L2L� 6 ¹ J������?� 6 54������� ! �����

Hn → A
M·p��K��� 6 ��� ! 1��>24� 6 ��� ! 2L����� �! �VJ�� 6�6 �UY

ú ðF×kÖ�ð�ñ�ó¾û�ÞNüÏ`c.
A

¼�e
H ì zíh*n|�¼�xà*Vâa|�`�eÏ*�-�`�z{*�f�vB*,+

E(H, A)
xà.�f

(?x4.�f%`?fµ|�`·`cã?¼�g�äU.�xà`�eÏ(�g�.)|�`·`'bd-�`�e�fAg�*,eÏ`?f·|�`
A

vB*,+
H

ã?¼k`·*,+?g�»,g�e¤.�e¾xà.
.�(A(�g�h*,eÆ|�`

H
f%*nw?+�`

A
ç�ý�e�-�*,eÏ(A`?f¸æ�.�âa¼�e¤.rw�g«â�`A(A(AgBh*,e

E(H, A) ≈ H2(H, A).

ï�ð�ñ_×[Ù?òBÖ�ó�Û�Ú Ü×¤Ý[ÞÏÂ0���AS%� 8 ���d&��P� ! ���/�L1�� 6 � 8V! ��24���$#U&9������� �! �
0 → A

i
→ G

π
→ H → 1Mq����� ! ��� 8V! �>�����V���A����� �! �

s : H → G
G
πs = idH

X$Y�º !76 ��� 8 E�2L�Q���L1��%1����
24�<�$#nE ! ���L��� �! ��T,E������/& ! od������� 6 �� 6 ��od��� 6 �L1 !@8 ��%���%1���2L�%�d&9�%T�S%� 8V! �N�P�/� 8 � 6oU���

s
���/&F��VeÏ*,+?z{.�x�g4þ�.F|F.�TF�HY¡�7Y

s(1) = 1.¶U�
s
6 ���/��2�&'��p !,8V!,8V!76�s � 8V! TA�A�d& ! �������Ï2L�0�$#U&9������� �! �;�����A�L��1��NM@M���� ! � ! �A�$�

8V! �[���t���/& 6 ���A&9� 6 �UY%¿>� ! & 69!<8V! 1 ! T � !,8V!
s(hk)

M
s(h)s(k)

� ! �µ����Sn�4�K1 ! ��
hk

J��%� !
π
T�1��AJB�A�����/&'� 6 ���a2L� 8 �Q� 8 �Ã��2L�%���P24�K&9� 6 �%2 Ô ���01������ 6 T

s(h)s(k) = i(f(h, k))s(hk)1 ! ��1��
f : H × H → A

���V�%2QC,�����a54������� �! �´eÏ*,+?z{.�x�g4þ�.F|F. ¹ 1�� s(h) =

s(1)s(h) = s(h)s(1) = i(f(1, h))s(1 · h) = i(f(h, 1)s(h · 1)
���3���QC,���

f(1, h) = 0 = f(h, 1)

ÿ������K�	�����\¢A�%�®�K��� ¨ �	���H���D¢A���	��� ª �¥°H�'�_�9�K�D��� ¨ ���H�«�_�K�Ï°H�®�9� �� �D���N�'�H� ¯��$��¢A�K�W�
¨ �'��°����?�7� ¨ � ��'���«�¤����Í��K�[���7�¤������� ¨ � ��c�0�K�[��¢A����£'���	��� ¨ ����¬
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E�� 6 �V& ! 1 !
h ∈ H

Y��������%2 8 ����&9�t�
f
���µ2L�t2L24� 8 �{($*,e7î�¼�e�-�*å|�`���.�(?-�*,+�`?f

�%� ! ���4�%1 ! �N�324�>�$#n&9�A���/� �! �VMV�
s
Y � p !76 �Ã1��AJ�� 6 � 8V! ��E 6�! J�� 6 oU���©2L�Ã�$#U&9���n�

��� �! �¸E�����1�� 6 ��� ! J 6 � 6 �/�©�PE�� 6 &9� 6 1���24�P�%�����?�! �¸M¸1���2�� ! �,�®����& ! 1��05à�%�A& !76 �A��YÈ !,8V!
s(H)

���@���³� ! �,�®����& ! 1�� 6 �AE 6 �����A�d&'�%��&9���@1��µ24�%�P��24�%���A�324�K&�� 6 �%2L�A��T�U���AS%� 8 ����&9�V&9����� 8V! ��24�"J��QM����A��� �! �
(a, h) 7→ i(a)s(h)

YÏÈ_�%2Q����2L� 8V! �32L�
8 ��2Q&��QE�2L�L�?�%�A� �! �¸�L��1������L1������

A × H = Gf

�����A�/&9�3���%� ! ¹
i(a)s(h)i(b)s(k) = i(a)i(hb)s(h)s(k)

= i(a + hb)i(f(h, k))s(hk)

= i(a + hb + f(h, k))s(hk);1��Ã1 ! ��1��7T
(a, h) · (b, k) = (a + hb + f(h, k), hk).Z\��� ! �d& 6 � 8V! �<� ! ��1��Q��� ! �����©E�� 6 �·od���;����& ! 1�� s ���·�����·�A�/& 6 ���A&9� 6 �V1��

C 6 �FE ! Y
[(a, h)(b, k)](c, l) = (a + hb + f(h, k), hk)(c, l)

= (a + hb + f(h, k) + (hk)c + f(hk, l), (hk)l),

E !76_! & 69! 24�%1 ! T
(a, h)[(b, k)(c, l)] = (a, h)(b + kc + f(k, l), kl)

= (a + hb + h(kc) + hf(k, l) + f(h, kl), h(kl)).¿<� 8V! 1 ! oU���7TNE�� 6 �roU������20E 6�! 1����A& ! �����}�%� ! ���4�K&9��S ! T��A2©� ! �,�®����& ! 1��
5à�%�A& !76 ���

f : H × H → A
1��$JB�Ã���K&9�L��5à�K��� 6 24� 6 ��24�%���?�! �

f(h, k) + f(hk, l) = hf(k, l) + f(h, kl)

��oU���QS%�%2L�A�d&9� 8 �A�d&9�7T
0 = hf(k, l) − f(hk, l) + f(h, kl) − f(h, k) = (δf)(h, k, l)E�� 6 �r�����%2Q����oU���L� 6 �

h, k, l ∈ H
YDZ�� ! & 6 �K�¸E��%24�KJ 6 �%�AT

f
���V���´è��H� ! �A�L��2 !

! J�&9�����L1 ! 1��Ã24� 6 ��� ! 2Q���A� �! �=J�� 6�6 �;� !7698 �K2L�Lø?�%1��UY
Z\2k��2Q� 8 ���d& !

(0, 1)
6 ������2Q&9�;�A2k�����F& 69! 1���2�C 6 �FE ! ¹

(0, 1) · (b, k) = (1b + f(1, k), 1k) = (b, k)

M
(a, h) · (0, 1) = (a + h0 + f(h, 1), h1) = (a, h)
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(a + hb + f(h, k), hk) = (0, 1)

� ! �01��
k = h−1

T�1��P1 ! ��1��P1��AJB�P��������1�� 6
a + hb + f(h, h−1) = 0

TÀ�HY¡�%Y

b = −h−1(a + f(h, h−1))

oU���P1��$JB�Ã54������� ! ��� 6 E !76 24���Lø�od���Q� 6 1�� ¹
(−h−1a − h−1f(h, h−1), h−1)(a, h) =

(−h−1a − h−1f(h, h−1) + h−1a + f(h−1, h)), 1)

= (−h−1f(h, h−1) + f(h−1, h)), 1),

E !76 ��� ! T�1��AJB� 6 ��;��� 6 ���L� 6 &'�;24���L1����d&9�Q1��K1

h−1f(h, h−1) = f(h−1, h).

È !,8V!
f
���0� ! �A�L��2 ! T

0 = h−1f(h, h−1) − f(h−1h, h−1) + f(h−1, hh−1) − f(h−1, h)

= h−1f(h, h−1) − f(h−1, h)

¿<� 8V! 1 ! od���P24� 8 ��2�&9�QE�2L�L�?�K��� �! �·1��
Gf

���/&F���J��L����1�� s ���L1��UY¿<��� ! &'�%��1 !
ϕ(i(a)s(h)) = (a, h)

&������ 8V! �

ϕi(a) = ϕ(i(a)s(1)) = (a, 1),

24���L����2L����� �! �R�?�%�0�! ���L�?�@M�T

πϕ−1(a, h) = h,

24�_E 69! M������A� �! �µ���%�0�! ���Q�?�0od���D� ! �t�A24� 6 � 8 �A�d&9�Np !,8V!,8V!76/s � 8V! ��Y�Z\�d& ! �����A��T24���$#n&�������� �! ���L���L�A�4�%2����_��od����S7�%2Q���d&9�Ã�;24���$#n&9�A���/� �! �

0 → A
i′

→ Gf
π′

→ H → 1

1�� s ���Q1��>� ! 24� 8 ���d&9�_���V&U�� 6�8 �L� ! �N1��
f
M·�����@�%�A��� �! �V1��%1��Ã1��

H
� ! J 6 �

A
Y

� p !76 �¾�?� 8 J��L� 8V! �·24�³��2Q������� �! �Ó1��{24�³�������A� �! �
s

E !76 �����
s′

G«&'� 8 �
J��A����¾� !7698 �%2L�Lø��%1��,X Ô � !,8V!

h = πs(h) = πs′(h)
�9�KJ�� 8V! �3od���

s′(h) =

i(c(h))s(h)
TÏ1 ! ��1��

c : H → A
���V� 6 J���& 6 � 6 �L�)���%2QS ! E !76 24�)� ! ��1��L��� �! �

c(1) = 0
T��HY¡�%Y��A�@���³��2L� 8 ����& ! � 6 J��Q& 6 � 6 � ! 1��

C1
N(H, A)

Y�È_�K2L����2L� 8V! �>��2
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� ! �,�®����& ! 1��Ã5à�%�A& !76 ���©�%� ! ���4�K1 ! Y
s′(h)s′(k) = i(c(h))s(h)i(c(k))s(k) = i(a)i(hc(k))s(h)s(k)

= i(c(h) + hc(k))i(f(h, k))s(hk)

= i(c(h) + hc(k) + f(h, k) − c(hk))i(c(hk))s(hk)

= i(c(h) + hc(k) + f(h, k) − c(hk))s′(hk),�%�?�I
f′(h, k) = f(h, k) + hc(k) − c(hk) + c(h) = f(h, k) + (δc)(h, k). �
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Congruencias

1. Un poco de aritmética�����������������! "�#��$�%'&(���!�*)+�!�(�-,%.)+�#/�)0�!��1.&2���#�3&2�4�� "�!�(/4�*5-�����6)7%����8��&�/��9�2/:&;%
�4��)�<3&2/:5-�

Z/m =�> �3&��4�#?��4@+��@A,�!��1

Z/m = Z/mZ

� B�@+����1C�4�!� �6,/4 "�#&2�!�
a D b

���!� �#EF/4@0G.%.)+�����2���  H,�!�4/4)+�
mI

a ≡ b(
 "���

m) J ��@ m �4@0GK@0���L%
a − b

I
m|a − b J9= ���4�� M,%.�N���O)7%P���RQ

��&2/4�#�2/:&;%O%.�4@0�2@SG3%F1-�4�#B�@+�4�T%OE�/��
Z
���N/4�U%.�4@+)+)0�LBV%.WR�T)+%O X/4)0�2@05�)+@+��%.��@Y,�!�

/4��/�%.) D mZ
/4�X@+�4�A%.)Z1

Z/m
�2@0���4�[�;%. \BV@9,���]���8��&�/��9�2/:&;%��4�^%'��@0)+)+� I �#�!�� X/KQ

�;%'�2@SG_�X�#�!�`/��4@0�2%'&2@+� J @0���4/4��@+��%N5-�3&^)7%] X/�)S�2@05�)+@+�A%'��@Y,�!�a/4��/�%.)��4�N�����2�#&2�!� =b )-<3&2/:5-�\���6��)0�� "�������!�[@+��G_�9&��2@0B�)+���c�#�
Z/m

I �X/4�4@+��%.�4��� J 5�/4���4�6���#&�4�����#&2@S�2�*�#�! "�
(Z/m)∗ = {a ∈ Z/m|(a,m) = 1}

I
(a,m)

�4���4�3�;%c��)_ M,%ed:@0 "�[���! f,/4�N�4@0GF@+���3&��4�
a D m J 1 D %�EF/4�31 (a,m) = 1��EF/4@0G.%.)+�*%

ab +mc = 1
5V%'&2%T%.)+<[,/4�

b
1g�4�a�4�!�4�4�

ab ≡ 1(
 "�F�

m) hi=b )��3&2�4���`�4�N�#�8�2�j<3&2/:5-�*���N�4���4�3�;%\5-�3&
ϕ(m) = |(Z/m)∗| D �8�j)+)7%. L%k)7%l /4���#@Y,�!�

ϕ (: N → N)
�4� b /4)+�9& I �9G3%.)0/V%'�V%]���

m Ji=nmo �����\���4�4�! "�3&�?��� "�!pq�4�
Z/m

���8�:,%]�4�#�2�9&2 "@+��%.�4�N5-�3&�)7%j@0 L%.<!���"�4��)
<!���4�#&;%.�4�3&

1 ∈ Z/m 7→ a ∈ Z/m D ��)( "�3&�?��� "�a�#�!@+�4��@+�4�]���!�r)+%a */4)SQ�2@05�)+@+��%.��@Y,�!�`5-�3&s���8���t��)+�# "�����2� I
ψa(b) = bψ(1) = ba = ab Ji= b �8���P��%/4�V%]@+�4�����2@0?��A%.�#@Y,�!�

b �4�
(Z/m) ≈ Z/m, (ψa 7→ a);

uwvKx�y	z[{}|.~R�R{w�n�9ze�#{w�_x'z��'�Zz��#z#~8�(~RzixY��|.{}� �z;x��#�'��x.z2�Z���Z�R��zi{
ab = 1� vKx[������yn�	�'�;�_�2vK|ey	���4�'���ex'� �z

ϕ(m)
~�z;��z�y���~���x����n�.�2�q�'���e�Z�n��zi{��Z�Ry��8�w�n�9z9{F�

m � |'�{�����x^�_zi{w���w�n�9z9{��^����x'z;�Z��{-�q��{��Z�;���� zi��z;��z2���'{w��z
Z/m → Z/m

�
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���f5V%'&��2@+�#/�)+%'&A1���)N<3&�/45�������%./:�2�! "�3&�?��� "�!�"�`��/:�
(Z/m) ≈ (Z/m)∗I 5-�3&2E�/4�

1 = ψaψb(1) = ab J9=�� @+<!�4@0?��A%"E�/��X�2�F��%"���8�8&2/4�#�2/:&;%��4� Z/n
Q

 H,�!�4/�)0�]���3B4&2�
Z/m

GK@+���4�s�4�s/4�P�4�! "�! "�3&�?��� "�
Z/n → (Z/m)∗ =�� @+ tQ@+)7%'&� "�����2�.1:/��4�a�4�]�����2�!���4�! "�! "�3&�?��� "�!�[�����4,%t�4�#�2�#&� "@+��%.�4�*5-�3& )7%*@+ tQ

%.<!���f�4��)k<!���4�#&;%.�4�3&P�4�
1 ∈ Z/n 7→ t ∈ Z/m

1^BV%.WR�¡)+%U&2�#�8��&2@+�#��@Y,�!�
tn = (t(ϕ(m),n))l = 1, (l = n

(ϕ(m),n)
)
1��#�[�4����@0&

tn = t(ϕ(m),n) = 1
1��4�#B�@+�4�

%XE�/4�k��)��3&2�4���P�4�
t
�4�#B-�s���#&�/4�P�4@0GF@+���3&¢�4�

ϕ(m) =
2. Estructura del grupo de invertiblesb �£�����;%t�����#��@Y,�!�¤�9dK5�)+�3&;%e&2�� "�!�¢)7%*������&2/4�#�2/:&;%t�4��)�<3&2/:5-�a�4�\%./:�2�! "�3&�?���Q

 "�!�c�4��)�%'��@0)+)+�
Z/n

1�BV%.�K,%.�4���!�4�!�����`��)��8WR�� a5�)+��¥ =�¦ �4�"§ ? ¨�=
��/:�

(Z/nm) =
��/:�

(Z/n× Z/m) =
��/:�

(Z/n) ×
��/:�

(Z/m)

��/�%.�4�4� I ��1© J�ª ¥31 D %sE�/4� Z/nm = Z/n×Z/m =K> �3&������:1!5V%'&;%«�4�����#&�@0B�@0&)7% ������&2/4�#�2/:&;%«�4�����8�2�!��<3&2/:5-�!��1'B�%'�8�;%����!�4��@+�4�#&2%'&���)4�A%.���
n = pr

���!�4�4�
p���c/4���«,/4 "�#&2�k5�&�@+ "� = b �O���8�2�«�A%'���:1K��)-<3&2/:5-� (Z/m)∗

��@+���4�
pr−1(p− 1)��)+�� "�#���2�!� =

Caso n = 2r. ¬ /�%.�4�4� r = 1
1
ϕ(2) = 1 =:¬ /V%'���4� r = 2

1��#)�<3&2/:5-�j�4�
@+��G_�9&��2@0B�)+���c�2@0���4�s�4�!�¢��)+�� "�#���2�!� D 5-�3&¢�����a���^@+���! "�3& l �X% Z/2 =

> %'&2% r > 3
1:5�&��3B�%e&2�� "�!��EF/4�s��/:�

(Z/2r) = Z/2× Z/(2r−2) = b )g��)0�9Q "�������j�4�s�3&����#���4�!�c���[Q;¥31�5�&��3B-�� "�!�[E�/��k­N�2@+�#��� �3&2�4���
2r−2 =:> &�@+ "�#&2�:1

5 ≡ 1(
 "�F�

22), 6≡ 1(
 "�F�

23) D 1��#�! "�
(1+ 4 · 2s)2 = 1+ 4 · 2s+1(1+ 2s+1) ≡ 1(

 "�F�
2s+2), 6≡ 1(

 "���
2s+3),

�2���4�� "�!��EF/4�
(1+ 4)2r−2

≡ 1(
 "�F�

2r), 6≡ 1(
 "�F�

2r+1)
1:@ = � = ��)��3&2�4���P�4���@+�4���X���

2r−2 =���4�3&;%r�:,�!)+� l %.)0�2%®G_�#&LEF/4�TQ2¥ D 52r−3 �4�¯�8�!�H�#�!��<3&�/��#���2��� I %. XB��!�
�2@+���4��� �3&2�4��� ° J9= ����/4 L%. "�!�±EF/4�

2r|52r−3

+ 1
1²�#� 5V%'&���@+��/4)7%'&A1

2r−1|(52r−3

− 1) + 2
1 5��#&2�

2r−1|(52r−3

− 1)
I �4�U)7%³54&2/4�#BV%M%.�����#&2@+�3& Ji´��@+<!�4@0?��A%jE�/��

2r−1|2
14@ = � = r = 1

,�"° =
Caso n = pr con p primo impar. > &��3B-�� "�!� E�/4�]��/:� (Z/pr) =

Z/(p− 1) × Z/pr−1
14�4�s���#�i�4�`¥Yµ

p
�2@+���4�6�3&2�4���

pr−1
5-�3&2E�/4�

(1+ pk)p = 1+ p2k+ (
pk
2 )p2 + · · ·+ (pk)p = 1+ p2k(1+ a)

¶�� zi��z;��z2���'{w��zi{V~Rz;x��nxA�9���Z{�z(·.�ny	����������y+¸
ψaψb = ψbψa = IdZ/m

�
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���!�
a
��@SGK@+��@SBV)0�P5-�3&

p =¢> �3&T)0�¯�;%'���2�:1c��@ 1 + pk ≡ 1(
 "�F�

ps−1), 6≡

1(
 "���

ps)
1��������!���#���

(1 + pk)p ≡ 1(
 "���

ps), 6≡ 1(
 "�F�

ps+1)
1��#�! "���KQ

$A%.�4�4�t���!�
k = 1

�3B4�2���4�� "�!��EF/4�
(1+ p)pr−1

≡ 1(
 "�F�

pr), 6≡ 1(
 "�F�

pr+1),@ = � = ¥Yµ p �2@0���4���¹�3&2�4��� pr−1 =(� @+<!�4@0?��A%LEF/4�`¥Yµ p <!���4�#&2%T��) p Q���/:B�<3&2/:5-��4� ��D )+�eº��4�k��/:�
(Z/pr) =���4�3&;%»�4�3�2�� "�!�¼EF/4�±)7%½54&2� D �#����@Y,�!� �A%.�^,�!�4@+�A%

Z/pr → Z/p

(= Z/pr/pZ/pr)
1�@+�4�4/��#�j/4�¤�4�! "�! "�3&�?��� "�]� /4�

(Z/pr) →
��/:�

(Z/p)EF/4�s�������3B4&2� I �2�! L%
1, 2, . . . , p− 1 ∈ Z/pr J9´ 5-�#&2�:14�4�s�����3&Y,¾ %\�4�]¿k%')+�!@+��1�2%'B-�# "�!�tEF/4�`��/H<3&2/:5-�¹�4�P@+��G_�#&��2@SBV)0����1

(Z/p)∗
1[�#�"�!,¾ ��)+@0����@+���! "�3& l �¹%

Z/p− 1
1 D %sEF/4� ���!�4�8�2%s�4�^&2%.@+�������4�^)7%6/4�4@+��%.�tÀ =�> �3&[)+�6�;%.���2�:1_)7%¹,/4��@0�A%�35-��@Y,�!�¯���XEF/4�O��/:�

(Z/pr) = Z/(p− 1) × Z/pr−1 =�> �3&Á,/�)S�2@+ "�:1����! "�
�2�F�4�!�")+�!�"�#)+�� "�����2�!�"�4�¤)+% l �3&2 L%

1 + pk
l �3&� L%.�M��)6����<!/4�4��� l %.�#���3&A1

5-�F�4�� "�!�k%.���#<!/4&2%'&]EF/4�a�#)[<!���4�#&;%.�4�3&N���#)Â54&2@+ "�#& l %.�#�2�3&j���`�#�j���!�4<3&2/KQ
�������k���!��¥k H,�!�4/4)+�

p =
> �����# "�!��&�����/4 "@0&¢)+�*%.���2�9&2@+�3&¢���! "�X��)�&�����/4)0�;%.�4�X��@+<!/4@+�����2� =
ÃNÄ:ÅgÆ�Ä�Ç�È ¥_É[Ê(Ë9Ì

m = 2r0pr1

1 · · ·prk

k ÍVÎ Ë Î�Ï Ë�Ð�Ñ®Ì_Ð3Ò�Ó Ï Ð#Ì_ÐAÓ�Ñ�Ô®Õ#Ñ Î�Ö× Ó�Ø4Ë#Ð�Ë�ÙrÑ × ËAÚÂÌ Î Ó�Ú�Ú�Ñ Z/m
Ø4ËOË Î�Ï Ë�Ð�Ñ × ÙÜÛÑKØ Í Ú�Ñ m Ý�Þ Î�Ï Ñ Î Õ#Ë ×#ß

(Z/m)∗ ≈ Z/2× Z/2r0−2
× Z/pr1−1

1 · · ·prk−1
k ×

k∏

i=1

Z/(pi − 1).

b �¯5V%'&���@+��/4)7%'&A1
ϕ(m) = 2r0−1 · pr1−1

1 (p1 − 1) · · ·prk−1
k (pk − 1)

1g/��
�F/4 "�#&2�T��/ D %T�4�������! a5-�!�8@+��@Y,�!���#�U54&2@0 "�!�s5�/4���4�"���!�4��@+�4�#&;%e&2���a�A%à,�3�2@+�A%F1��@+�j�# XBV%'&2<!�:1�G_�9&2�� "�!��E�/4�Â���]�����2�Â��&;%eB�%.WR�¢�4,�!)+���4�!�g@+���2�9&2���2%.�N)+�!�g54&2@+ "�!�
���F/4 "�#&2%.�4�!�^%'EF/�,¾ =

á
(Z/p)∗

�R{¢�Rygâi��|e�_z]�e�kãà��y	zi�n{c�'�«y��j��ä����Rx'{w� �z;x
Q(ζ)/Q

��~Rz;x
ζ = e2πi/p å {�����R~�z;�c�	��x.�'���9����y	zi{V����ä#�Zzi{���{�� ���x.�'�8���R{V�e�g����� �� ���e�(��xe�nyny	zi{V�^~8���[�_zi{��
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Caso metaćıclico

1. La resolución�����������������! #"$����"% &�'"(���')*�+�-,.���
H∗(Z/n, Z/m) / H∗(Z/n, Z/m) 0�1  2�+ 3  #"5476�89����6�� 3 �+��:(�+���������767 ;�+������"(�7��:=<��6>"(:(?��+�A@7�

Z
���*?��+�B��"' #6�:$"$"$�;@��

)*�+�-,.�C@7�
Z/n

8D��"E���7 #".,7����@��'�F���HGI:$� 3 �J�������
Z[T |Tn = 1] = Z[T ] 0K � 3 �������MLI���*8*@���6 3 �+�N@��

Z[T ]
8*"$ O�+��"% 2��:=<��6

Tn = 1
,7����@��9������������:(?7:(�+���

�������
0 = Tn = 1 = (T − 1)(1 + T + · · ·+ Tn−1) = (T − 1)N;

 #P��*�Q R6�� 3 �������5LS���J"$���T��"$������6 3 ���
T − 1 / N

,7����@���6U������GI:$� 3 �����������
���*��47�������

Z[T ] → Z[T ]
����@�:% #6 3 �5�C�7" 3 :(,7"$:$�! 2��:=<��6 0�V �T��� 3 �N���I@��-8 3 :$��6������6 3 :$@��J����67�F:$@����Q 2�O��"������R,7"$�FWX�Y@7�N�! #@���67 #�

· · ·
N
→ Z[T ]

T−1
→ Z[T ]

N
→ Z[T ]

T−1
→ Z[T ] → Z → 0.

ZI��"% #����6 3 �9[\ #" 3  NG]���^LS��� 3  #"7�����R,7"$�FWX�N���^ #�*<_ ��"$:$���I` 0S1 �+:(�����+�N�! #"$����"$�ba�����^��"�6�<����"(���c@��
(T − 1) 0 ZI�� a =

n−1∑

i=0

a(i)T i ∈ d ��� (T − 1)
��6 3 ��6������

0 = (T − 1)a =

n−1∑

i=0

a(i)T i+1 −

n−1∑

i=0

a(i)T i

=

n∑

i=1

a(i − 1)T i −

n−1∑

i=0

a(i)T i

= a(n − 1) +

n−1∑

i=1

[a(i − 1) − a(i − 1)]T i − a(0),

"$�HLS���e��LI��:(G# #"$�f 
a(0) = a(1) = · · · = a(n−1) = a′ g @��e@���6�@7� a = Na′

/ 8-���h�F:$)����*8 d ��� (T − 1) = i � N 0
jlknmfoqpsr�tvu	w2r+w�xspsy\zqr.oqpXy|{Qtv}2~Xu �{Qm�psy�w&p�{+o�uv��pXm�z|{Q�]{Qt �{Q��uv~s{=xs� �psr+y|pE�

? � ��rFoqr�t�r�~s{Qm2y�z�o�}2~��~Xu �{bmO}#y�}*r�t$�
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�  #" 3  ��! #"(����"% 2����"�6�<����"$����@��
N 0 ZI��,���67)] 2����� Na = 0

8S��6�,D 2� 3 :$����"% 2�!8
��" 3 <���+��:(67��@���)*�Q #@��B�����+��@���?.�������J6I��"$�-8M��� 3 ���F���*? 3 :$��67��@���"$����,��+�#a
@��7� 3 ���5@���"% c[%�*�+�� 

T i(Tn−i)
87,.�*����"$"$�-8 3  #" 3 <���+��:(67�c���T:$)��7 #"M n−1∑

i=0

a(i) 0
1 ���+�-8�@��' #P�<_ 8

a =

n−1∑

i=0

a(i)(T i − 1)

/ ������� T i − 1 = (T − 1)(T i−1 + · · ·+ T + 1)
8 3 ��6��������

a = (T − 1)a′ / 8,.�*� 3  #6 3 �-8 d ��� N = i � (T − 1) 0
2. Cálculo del número de extensiones�H,7"$:$�� #6�@7��"(���T[%�76 3 �*�+���N���*�������F,.��6�@�:$��6 3 ����8�G]�������TLI���JP7 / LI���Y�! #"�a����"% 2��"% �P�������"$��)�<_  N@7�

· · ·
N
→ Z/m

t−1
→ Z/m

N
→ Z/m

t−1
→ Z/m → Z → 0

/ "% �����P�������"$��)�<_  '@��
Z/m

t−1
→ Z/m

N
→ Z/m

t−1
→ Z/m

N
→ · · ·

@���67@��
tn ≡ 1(

���S@
m) � 6 3 ��6�������8 H0(Z/n, Z/m) = Z/m/ i � (t − 1)

8
H0(Z/n, Z/m) = d ��� (t − 1) /

Hi(Z/n, Z/m) = Hi+1(Z/n, Z/m) = d ��� (t − 1)/ i � N

,D 2�Q 
i > 0

:$�R,D 2�!8
Hi(Z/n, Z/m) = Hi−1(Z/n, Z/m) = d ��� N/ i � (t − 1)

,D 2�Q �,D 2�+���O�� / �*�����9LI���h�����+� 0
1 �+:$�����+�c����6���:$@����+�������O��"M�! 2������6BLI����"% c 2����:=<��6A���! 3 �+:(Gn:$ #"�� t = 1 �� 07� 6 3  #"��! #���-8 d ��� (t − 1) = Z/m

8 i � (t − 1) = 0, N = n / 8�,��*� 3  #6 3 �
d ��� N =

m

(m, n)
Z/m,

i � N = (m, n)Z/m

/ ��6 3 ��6������
H1(Z/n, Z/m) = Z/(m, n),

H2(Z/n, Z/m) =
m

(m, n)
Z/m = Z/(m, n).

�q� �{btv{��]{+oq��}2p p�mTpXy�z|p¡~Fr+yl{�t�r¡oqpXy��2}#pXy�z�r���p�m#pqo�r�t�pXy�¢ �rQ~�uvt]w&pM{+£2z|pXm2pqo��
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ZI��"% #����6 3 ��P7 /  2����:$��6�����6�� 3 �+:¤Gn:% #"(���9@7� Z/n
���*?��+�

Z/m
���7 #6�@7�

n

/ ��"e�*��@7��6 ϕ(m)
@���"e)*����,��

(Z/m)∗ =
�5� 3

(Z/m)
3 :$��6���6¥��6¦@�:(GI:$���*�

������<��6 0�56 3 ���h@��J����6���:$@����Q 2�h��6D � #����:=<��6;@�� 3 :(,���)���6����+ #"�8��*?7������G]�������'LI���
Z/mn = Z/m×Z/n

8#��:
(m, n) = 1 021  2�Q ���:$�R,7"$:(47�! &��6I����� 3 �����M�.< #"$���7"(����8 2,��+�=G]���QPD 267@��'"% #��,7���*,D:(��@7 #@�����@��

H∗ / H∗

����6R�+���F,.��� 3 ��@���"��§<��@7��"$��@��
���I��4D��:$��6 3 ����8��+������"(G]���+����������" �! 2���R���7 #6�@��

m = pr
����6

p
,��+:$��� 0-� 6�"$�����������:¤G]�c���+ 2�+��������"(�����+������" 3  #@����9@���"E�� 2,E<_ 3 ��"$�C #6 3 ���+:$�*� 0

Caso p = 2.
�5������ #�����5LS���

m = 2r, r > 2, n = 2sa, s > 1
8
a:$�R,D 2� 0I� 6���� 3 �h�! 2���-87,D 2�+ CLS�7� tn = 1

���H6��������� 2�+:$�RLS���
t2s

= 1
8-,.�*�O"$�

LI����,.�I@��������5 #������:(�
t = −1

8
t = 52r−2−(s−k)

,
<�

t = −52r−2−(s−k)

, 0 <

s − k 6 r − 2 0ZI:
t = −1

8
t − 1 = −2 /  #�!<_ 8

d ��� (t − 1) = 2r−1
Z/2r, i � (t − 1) = 2Z/2r;

�������
n
���9,� &�!8

N = 0 /
d ��� N = Z/2r, i � N = 0

@��'@���6�@��
H1(Z/n, Z/2r) = 2r−1

Z/2r = Z/2,

H2(Z/n, Z/2r) = Z/2r/2Z/2r = Z/2.

� 6¨)���6����Q 2"�8���:���"¡�*�+@���6¨@7� t
���

c, n = cd
8���"��� 2,.����6��*�+�� J���CG]�

�������
N = d(1 + t + · · · + tk−1).ZI:

t = 52r−2−(s−k)

, 0 < s − k 6 r − 2
8n��6 3 ��6������

t ≡ 1(
���I@

2r−(s−k)),

6≡ 1(
���I@

2r−(s−k)+1)
87: 0 � 0 t − 1 = a2r−(s−k)

����6
a
��6�:$@7 #@©@��

Z/2r 0D1 �*������
d ��� (t − 1) = 2s−k

Z/2r, i � (t − 1) = 2r−(s−k)
Z/2r;��"��*�+@���6©@��

t
���

2s−k
8�@��N@7��6�@��

N = 2kb(1 + t + · · ·+ t2s−k
−1),

����6
b
��67:(@D 2@�8I��� 3 �J���H6S�7�ª<���+:$�! #����6 3 �T:$)��7 #"� 

2kb
t2s−k

− 1

t − 1
,
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,.���+�
2r
���J"$ «,.� 3 ��6���:% ©@���¬��­< #��)*�Q #6�@���LI����@�:(GI:$@��� #"96I�������+ #@��*� /

t − 1 = a2r−(s−k))
8�,��*�H���F�

N = 2sb′,

����6
b′
��6�:$@7 #@«@��

Z/2r 0DV �N���I@��YLI���

d ��� N =

{
2r−s

Z/2r, s < r;

Z/2r s > r.
, i � N =

{
2s

Z/2r, s < r;

0 s > r.

1 �*�H"$� 3  #6 3 �-8

H1(Z/n, Z/2r) = 2s−k
Z/2r/2s

Z/2r =

{
Z/2k, s < r;

Z/2r−(s−k) s > r;

H2(Z/n, Z/2r) = 2r−s
Z/2r/2r−(s−k)

Z/2r =

{
Z/2k, s < r;

Z/2r−(s−k) s > r.

� "��*�+@���6«@7�'��� 3 ����)*�+�-,.�������',7����@��N�! #"$����"% &��,��*�H"% �[&<�*�+�C��"% 
(t − 1, 2r)(N, 2r)

2r
.

® ��:
t = −52r−2−(s−k)

, 0 < s−k 6 r−2
8����c�*�+@���6c��� 3  #�Y?7:�<��6

2(s−k)
8

��:$6����Y?� &�+)��-8S�������
t ≡ −1(

���S@
2r−(s−k)), r − (s − k) > 2

��� 3 :(��6��TLI���
t − 1 = c2

�
c
��67:(@D 2@ � g ��6 3 ��67�����

d ��� (t − 1) = 2r−1
Z/2r, i � (t − 1) = 2Z/2r

/
N = 2r+k−1c′

�
c′
��6�:$@7 #@ � ,

d ��� N =

{
Z/2r, k > 1;

2Z/2r k = 0;
, i � N =

{
0, k > 1;

2r−1
Z/2r k = 0.

V �'���S@��CLS���*8

H1(Z/n, Z/2r) =

{
Z/2, k > 1;

0 k = 0;

H2(Z/n, Z/2r) =

{
Z/2, k > 1;

0 k = 0.
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Caso de un primo impar.
�5�F�7�� 2�����.LI���f��"S�*�+@���6�@��

t
6��5@�:(Gn:(@7�

 
pr−1

��6 3 ��6�������8��������Y���NGI:=<�-8
t − 1

6��c����@�:(Gn:(��:(?7"$�H,.�*�
p / ,.�*�O��"$"$�Y���:$6SG]��� 3 :(?7"$�T��6

Z/pr 071 ���+�R�+ 2?��������^LI��� pr
@�:(Gn:(@7�N 

tn − 1 = N(t − 1),,.�*��"$�cLS���'@�:(GI:$@��' 
N 0�1 �*�5"$� 3  #6 3 �c¯

d ��� (t − 1) = 0, i � (t − 1) = Z/pr;

d ��� N = Z/pr, i � N = 0

/
H1(Z/n, Z/pr) = H2(Z/n, Z/pr) = 0.ZI�! 

n = psa, (a, p) = 1 0f� 6 3 ��67������8 t = (1 + p)pr−1−(s−k)

, 0 <

s − k 6 r − 1 / ��"��*��@7��6ª@��
t
���

s − k 0�� 6¦��� 3 ���! #��� pr−(s−k)
���C"% 

,.� 3 ��6���:$ �@7�
p
�°< 2��)*�+ #6�@7��LS�7�'@�:(Gn:$@��N 

t − 1 /
d ��� (t − 1) = ps−k

Z/pr, i � (t − 1) = pr−(s−k)
Z/pr; #@����� #�

N = pka
ts−k − 1

t − 1
= psa′

������6
a, a′

��6�:$@7 #@���� � 8

d ��� N =

{
pr−s

Z/pr s < r,

Z/pr s > r;
, i � N =

{
ps

Z/pr s < r,

0 s > r.� :$67 #"$����6 3 �*8

H1(Z/n, Z/pr) = ps−k
Z/pr/ps

Z/pr =

{
Z/pk s < r,

Z/pr−(s−k) s > r;

H2(Z/n, Z/pr) = pr−s
Z/pr/pr−(s−k)

Z/pr =

{
Z/pk s < r,

Z/pr−(s−k) s > r.

� 6���� 3 ���! #�F�-8���" �*��@7��6�@������ 3 ���T)*�+�-,.��� 3  2�C?7:�<��6«���h,7����@����! #"$����"% &�,.�*��"% �[&<�*�+�C�7"$ 
(t − 1, pr)(N, pr)

pr
.

� 6©��"��! #���J)���6����Q #"�8�@���?7:$@��J CLS�7�#87@��' #�������+@��c C6S�7��� 3 �+���O�.< #"$����"$���
H2(Z/n, Z/pr) = H2(Z/ps, Z/pr)

±X²�p�r+��} �� psy^p���u	w&p�m�z�p5��}#p5m&uvm&��}&m#{Nw&pHm!}#pXy�z�oq{bye~ �r+tv~X}&t	{by�w&p���pXm2w2pHw2pHt	rN��rFolz�p~Fr �{+z|uv~Fr�w2p
ϕ(m)

�
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/
H2(Z/n, Z/m) =

⊕

p

H2(Z/ps, Z/pr)

��"��*�+@���6©@��h��� 3 �h)*����,��J���N,7�7��@7�N�! #"(����"% 2������@�:% #6 3 �T"% �[&<�*�+�C�7"$ 
(t − 1, m)(N, m)

m
.

V �'"$�J #6 3 ���+:$�*�����'��:$)�����6�@7�����+������" 3  #@���� 0
³�´7µ ¶-µE·!¸%¹�¸]ºµM»§¼]½9¾.¿

(m, n) = 1 ÀTÁ�Â�Ã�Ä�Â¡Å�Á!Æ�Ç%ÈUÁbÉ�Ã�Á�Â�Æ ¿.ÊÄ�Â
0 → Z/m → G → Z/n → 0

Æ#Á�Á!Æ#Å ¿ ÂMË�Á#Ì
ÍhÎ µE´ Î7Ï9Ð ¬ ½�¾ Á�È Z/n Á!Ç�Ñ�Ò!ÓSÔ�Ä«Å ÊÕ Å!Ç ¿ Å�Ä«Ë�ÁCÄ�Ò�Ë�Á�Â n Ö Z/m È]Â ¿ ÇlÇ�Ä

Ë�ÁRÁ�Â�Ã�Á�Ò�Ä]Æ�× ÊÄnË]Ó�Ç\Ä m Å�Ä�Â�Æ ¿ Ë�Á�Ò�È-Ë�Ä�Å�Ä�×¨Ä Z/n Øs× ÊÄnË]Ó�Ç\Ä�×¨Á�Ë ¿ È]Â�Ã�ÁYÇ\È
È�Å�Å ¿�ÊÄ�Â t Ì�Ù�Â�Ã�Ä�Â¡Å�Á!Æ�À

Hi(Z/n, Z/m) ≈ Hi(Z/n, Z/m) ≈ Z/

(
(t − 1, m)(N, m)

m

)

Ô�È]Ò�È i > 0 À5Ë�Ä�ÂMË�Á
N = 1 + t + · · ·+ tn−1,

È-Ë�Á�× ÊÈ�Æ�À n|N À N/n Á!ÆcÔ.Ä]Ã�Á�Â¡Å ¿ È>Ë�ÁUË�Ä]Æ�Ö°Ç\ÈAÔ.Ä]Ã�Á�Â¡Å ¿ È>Á!ÆcÔ.Ä]Æ ¿ Ã ¿|Ú È
Æ#Ä]Ç%È]×¨Á�Â�Ã�Á�Å�ÓEÈ]ÂMË�Ä t Á!ÆY× ÊÓ�Ç�Ã ¿ Ô�Ç\Ä�Ë�ÁJØ�ÛnÌ

Ù9Â¨Ô�È]Ò=Ã ¿ Å�Ó�Ç%È]Ò!ÀOÆ ¿ Ç\È�È�Å�Å ¿�ÊÄ�ÂÜÁ!ÆCÃ�Ò ¿|Ú*¿ È�Ç�Ý t = 1 Þ¨Á�Â�Ã�Ä�Â¡Å�Á!Æ
Hi(Z/n, Z/m) ≈ Hi(Z/n, Z/m) ≈ Z/(n, m)

ß µE´DµEà Ð ´�¸%µâá�½ Ù�Ç�Â ÊÓ�×�Á�Ò�ÄãÅ!Ç%È�Æ#Á!ÆäË�ÁåÁ�æ�Ó ¿|Ú È�Ç�Á�Â¡Å ¿ ÈãË�ÁåÁQÉSÃ�Á�Â�Ø
Æ ¿ Ä�Â¡Á�Æ�Ë�ÁcÇ\Èhç#Ä�Ò!×BÈ

0 → Z/m → G → Z/n → 0

Á!Æ (t−1,m)(N,m)

m
Ì

V �� #���7���+@��R ©è ? é ��"��C�7" 3 :(,7"$:$�! 2@7�*�f@���ZI�QPI�-� H2G ≈ Z/l / 8-,��+����:$�+ &a����6 3 �*8Iê

l =
(t − 1, m)(N, h)

m
,

����6
m|h(t − 1), h|m.

ë
Precaución:

� r¡ìf}&tíz|uî�#tvuv~Fr+~�u �{bm��]{+o�~Xp�o�{�ylp�uím�z�pqo|�&oqpqzqrMp�mO~X}#r�t	��}&u	p�oD~sr+y|{�~s{Qì9{ìf}&tízluí�#tíu	~Fr+~�u �{Qmf�]{+o
m
p�m�psy\zqr+y�¢ �{+o�ìf}&t�r+ys�
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� "-6T<�������+� h
�����76Y,D 2��< #��� 3 �+�5@��9"% H,��+������6 3  #��:=<��6J@���"-)*����,��

G / h = m���h��LI��:(G# #"$��6 3 �R �LI���c"% ���ï 3 ��6���:=<��6;���� 3 �+:¤Gn:% #"9�
G
���',��+�S@7��� 3 �©������:$@�:¤a

�+��� 3 � � 8-"$�c���D 2"�6�����"$"$��G# Y C"(�c��:$)���:$��6 3 � 0
ß µE´DµEà Ð ´�¸%µ°ð7½9¾.¿ Ç\È¨ÁbÉSÃ�Á�Â�Æ ¿�ÊÄ�Â

0 → Z/m → G → Z/n → 0

Æ#Á�Á!Æ#Å ¿ ÂMË�Á�À�Á�Â�Ã�Ä�Â¡Å�Á!Æ
|H2(Z/n, Z/m)| = |H2G|

ÖRÁ!Æ�ÃFÈcÁ!Æ9Ç\ÈJÅ�È]Â�Ã ¿ Ë-È-ËcË�Á Z/m Ø�Å!Ç%È�Æ#Á!ÆTË�Á�Å�Ä�Â*ñ�Ó7ÑnÈ�Å ¿�ÊÄ�Â�Ë�Á�Á!Æ#Å ¿ Å ¿ Ä�Â¡Á�Æ�ò#Ì
ó ����<_ ,��+�I�� #����6 3 �*8]��:

|H2(Z/n, Z/m)| = |H2G|
8n�*? 3 ��67�������

(N, m) =

(N, h)
8�,��*� ���F�5,� &�Q O 2����)��-�Q 2� LI���f"% 9��ï 3 ��6���:=<��6���� 3 �+:(GI:% #"�8�����LI�����+:(������@��

 #"$)���67 �:$6�[%�*�+�� #��:=<��6� #@�:$��:(��6D 2" g ,.�*�O�FWX���R,7"$� m|n
8 /  JLI���'��� 3 �R�F:$)�6�:(47�! 

(m, N) = m 0
ß µE´DµEà Ð ´�¸%µõô-½5¾.¿

|H2(Z/n, Z/m)| = |H2G| Ö m|n Ì5Ù�Â�Ã�Ä�Â¡Å�Á!Æ�Ç%È
ÁbÉSÃ�Á�Â�Æ ¿.ÊÄ�Â

0 → Z/m → G → Z/n → 0

Æ#Á�Á!Æ#Å ¿ ÂMË�Á#Ì

öqk-y.w2pX~�uío�x!p�t�{Qo�w2p�m5w&p
H1(Z/n, Z/m)
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